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Documentation for ISSP background variables, ISSP 2011, ISSP 2012 © GESIS 1 

ISSP Background Variable Documentation 
 

Please name the ISSP module which the documentation refers to. 

GENDER & FAMILY  ROLES ISSP2012 
 

Please name your country: 

SPAIN 
 
 

 

 

 
SEX - Sex of respondent 

 National Language English Translation 

Question no. 
and text 

P. 33  Sex Q.33 

Codes/ 
Categories 

1. Hombre 1. Male 
2. Mujer 2. Female 
  

Interviewer 
Instruction 

  

Translation 
Note 

 

Note There is no question text nor explicit instruction to interviewer: he/she must feel 
answer without asking 

 
Construction/Recoding: 

Country Variable Codes (in translation)  SEX 

If question 33 = 1 1. Male 
Else question 33 = 2 2. Female 
Not used 9. No answer 
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BIRTH – Year of birth 

 

This question can be asked as an alternative to asking about AGE. If BIRTH is not asked 
directly, it must be computed by DATEYR ‘year of interview’ minus AGE ‘age of 
respondent’. 
 

 National Language English Translation 

Question no. 
and text 

P 34 ¿En qué año nació usted? Q 34 In which year were you born? 

Codes/ 
Categories 

---------------------------- --------------------------- 
9999 No contesta 9999 No answer 
  

Interviewer 
Instruction 

ENTREVISTADOR: anote 4 dígitos  INTERVIEWER: write 4 digits 

Translation 
Note 

 

Note  
 
Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in 
[square brackets] with real numbers) 

 Country Variable Codes/Construction Rules  BIRTH 

Construction   
Codes  1916 [MIN BIRTH]  
  … 
  1994 [HIGH BIRTH]  
 If question 34 =9999 9999. No answer 
 

Optional: Recoding Syntax 
COMPUTE BIRTH=P34. 
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AGE - Age of respondent 

 

This question can be asked as an alternative to asking about BIRTH. If AGE is not asked 
directly, it must be computed by DATEYR ‘year of interview’ minus BIRTH ‘year of 
birth’. 
 

 National Language English Translation 

Question no. 
and text 

Not used in Spanish questionnaire  

Codes/ 
Categories 

  
  
  

Interviewer 
Instruction 

  

Translation 
Note 

 

Note  
 
Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in 
[square brackets] with real numbers) 

 Country Variable Codes/Construction Rules  AGE 

Construction   
Codes  18  [MIN AGE] 
  … 
  96  [HIGH AGE] 
  999. No answer 
 
Optional: Recoding Syntax 
COMPUTE DATEYR=2012. 
COMPUTE AGE= DATEYR — P34. 
RECODE AGE (LO THRU 17=999). 
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EDUCYRS - Education I: years of schooling 
 

Question 35: Have you ever gone to school? Filter for DEGREE (35a) and EDUCYEARS 

(35b) 

 National Language English Translation 

Question no. 
and text 

P35 ¿Ha ido Ud. a la escuela o cursado 
algún tipo de estudios? 

Q35 Have you gone to school or taken 
any kind of courses? 

Codes/ 
Categories 

1. No. es analfabeto 1. No. He/She does not read nor write  
2. No, pero sabe leer y escribir 2. No, but  he/she reads and writes 
3. Si, ha ido a la escuela_____________ 
9. No contesta 

3. Yes. He/she has gone to school____ 
9. N.A. 

Interviewer 
Instruction 

(ENTREVISTADOR: Si no ha ido a la 
escuela, preguntar si sabe leer y 
escribir) 

(INTERVIEWER: If respondent has not 
gone to school, ask if she/he knows how 
to read and write) 

Note This question is used in Spanish questionnaire to construct, as a filter, the required 
ISSP variables: DEGREE and EDUCYEARS 

 
Filter Variable(s) and Conditions:  
No filter 
 

 

 National Language English Translation 

Question no. 
and text 

P35b ¿Cuantos años estuvo Ud. 
escolarizado o cursando algún tipo de 
estudios oficiales a los que dedicara la 
jornada completa? 

Q35b ¿How many years were you in 
school or taking (official) courses with 
full-time dedication? 

Codes/ 
Categories 

 
--------------------Nº de años 
 

 
-----------------------------N. of years 

95.Todavía está  estudiando    
(colegio/instituto) 

95. Still studying (school/high school) 

96. Todavía está estudiando 
(universidad)_____________________ 
98. No recuerda___________________ 
99. No contesta 

96. Still studying (College/University) 
 
98. Does not remember____________ 
99. No answer 

Interviewer 
Instruction 

  

Note WARNING!!! An error in the Spanish questionnaire failed to register the 
elimination in 2010 of the response categories of this variable: “still at school” and 
“still at college/university”. They both appear in the Spanish questionnaire, and 
this mistake reduces the number of people who answer the number of years they 
have been at school.   

  
 
Filter Variable(s) and Conditions:  
If question 35= 1 or 2 (did not go to school) or 9 (NA), skip Q35a (DEGREE) and 
Q35b (EDUCYEARS) and GO TO Q36 
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Country Variable Codes/Construction Rules  EDUCYRS 

If question 35 = 1 or 2 0. No formal schooling, no years at 
school 

If question 35b = 1 1. One year 
… … 
If question 35b = 95 95. Still studying (school/high school) 
If question 35b= 96 96. Still studying (College/University) 
If question 35b = 98 98. Don’t know 
If question 35 = 9 or question 35b= 99 99. No answer 
 
Optional: Recoding Syntax 
COMPUTE EDUCYRS=P35B. 
IF (P35=1 OR P35=2) EDUCYRS=0. 
IF (P35=9) EDUCYRS=99. 

 
ES_DEGR - Country-specific highest completed degree of education 

 National Language English Translation 

Question no. 
and text 

P35a ¿Cuáles son los estudios de más 
alto nivel oficial que Ud. ha cursado 
(con independencia de que los haya 
terminado o no)? Por favor, especifique 
lo más posible, diciéndome el curso en 
que estaba cuando los terminó (o los 
interrumpió), y también el nombre que 
tenían, entonces, esos estudios: (ej., 3 
años de Estudios Primarios, Primaria, 5º 
de Bachillerato, Maestría Industrial, 
Preuniversitario, 4º de EGB, 
Licenciatura, Doctorado, FP1, etc.)   

Q35a Which are the highest level 
official studies that you have done 
(whether you have finished them or 
not)? Please specify as much as 
possible, telling me     

the level (year) you were in, when you 
finished (or interrupted them), and also 
the name those studies had then (if 
different): (example: 3 years of 
Primary, Primary, first year of Junior 
High, Vocational Training, last year of 
High School, 4rth year of former 
Primary Education, College degree, 
PhD, first level of Vocational Training, 
etc)   

Codes/ 
Categories 

(ENTREVISTADOR: Si aún está 
estudiando, anotar el último curso que 
haya completado. Si no ha completado 
la Primaria, anotar nº de años que 
asistió a la escuela.) 

(INTERVIEWER: If still studying, 
write down the last school year that 
he/she has finished. If he/she has not 
finished Primary, write down the n. of 
years that he/she went to school.) 

  
Note The interviewer must write down the last year completed in school by respondent 

and the name of those studies. Then, he/she will write the appropriate code 
according to the Studies-Degree-Card. This code and the information given by 
respondent is revised later on by expert coders.  
The amount of examples given for the name of Spanish studies may seem too 
many, but, in Spain, it is necessary, due to the constant change in study plans in the 
last 25 years. 

 
Filter Variable(s) and Conditions: 
Two questions intervene in the construction of ES_DEGR: question 35 AND question 
35a. IF QUESTION 35 =1 or 2 (didn’t go to school) or 9 (NA),  SKIP Q35a 
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ES_DEGR - Spanish highest completed degree of education 

 National Language English Translation 

Question no. 
and text 

P35a  Tarjeta  Nivel de estudios 
 

Q35a  Spanish Degree Show-Card 
 

Codes/ 
Categories 

01. Menos de 5 años de escolarización 01. Less than 5 years of formal 
schooling 

02. Enseñanza Primaria de LOGSE 02. Primary School 
 
03. ESO, EGB Bachillerato Elemental 
________________________________ 
04. Formación Profesional de grado 
medio (antigua FP1)_______________ 
05. Bachillerato Superior (LOGSE)___ 
 
06. Formación Profesional de grado 
superior_________________________ 
07. Arquitectura Técnica, Ingeniería 
Técnica (Escuelas Técnicas de tres 
años)____________________________ 
08. Diplomaturas (Tres años completos 
de cualquier carrera no técnica)_______ 
09. Arquitectura e Ingeniería________ 
 
10.Licenciatura___________________ 
11. Titulaciones oficiales de estudios de 
postgrado (Doctorado, Especialidades 
Médicas_________________________ 
98. No sabe______________________ 
99. No contesta___________________ 
 

 
03. Low Secondary School (Junior 
High)___________________________ 
04. Vocational Training (medium level) 
________________________________ 
05. High Secondary (High School)____ 
 
06.Vocational Training (high level) 
________________________________ 
07. Technical Architecture, Technical 
Engineering (Three years Technical 
Schools)_________________________ 
08. Three years completed of any non-
technical University career__________ 
09. Architecture and Engineering 
(Technical Schools)________________ 
10. College Degree________________ 
11. Official Graduate Studies (PhD, 
Master, Medical Specialization)______ 
 
98. DK__________________________ 
99.NA___________________________ 

Interviewer 
Instruction 

Si aún está estudiando, anotar el 
último curso que haya completado. Si 
no ha completado la Primaria, anotar 
nº de años que asistió a la escuela. 

If respondent is still studying, write 
down the last year completed. If he/she 
has not completed Primary, write down 
n. of years that went to school 

Note Code 06 “Vocational Training, high level”, is a degree that gives access 
only to certain University careers and (University) degrees.  Codes 07  
and 08 are University degrees, but only 3 years Univ.  
Since the full application of the BOLONIA system, all careers are 4 years, 
but there are not cases in this survey so far. Prior to that, all were 5 years 
and some (Technical Schools) more than 5. 
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Filter Variable(s) and Conditions: 

Two questions intervene in the construction of ES_DEGR: question 35 AND question 
35a. IF QUESTION 35 =1 or 2 (didn’t go to school) or 9 (NA),  SKIP Q35a  
 
Construction/Recoding:  

Country Variable Codes/Construction Rules  ES_DEGR 

if question 35= 01 or 02 01. No formal schooling, did not go to 
school 

if question 35= 03 and question 35a =01 02.  Less than 5 years schooling 

else if question 35=3 and question 35a=02 03. Primary education  

else if question 35=3 and question 35a =03  04. Low Secondary School, Junior High 

else if question 35=3 and question 35a =04  05. Vocational Training (medium level)  

else if question 35=3 and question 35a =05  06. High Secondary (High School) 

else  if question 35=3 and question 35a =06 07.Vocational Training (high level)  

else if question 35=3 and question 35a =07 
08. Technical Architecture, Technical 

Engineering (Three years Technical 
Schools) 

else  if question 35=3 and question 35a =08 09. Three years completed of any non-
technical University career 

else  if question 35=3 and question 35a =09 10. Architecture and Engineering 
(Technical Schools) 

else  if question 35=3 and question 35a =10 11. College Degree 

else  if question 35=3 and question 35a =11 12. Official Graduate Studies (PhD, 
Master, Medical Specialization) 

If question 35 = 9 or question 35a = 99 99 No answer 

 
Optional: Recoding Syntax 
 
IF (P35=1 OR P35=2) ES_DEGR=1. 
IF (P35A=1) ES_DEGR=2. 
IF (P35A=2) ES_DEGR=3. 
IF (P35A=3) ES_DEGR=4. 
IF (P35A=4) ES_DEGR=5. 
IF (P35A=5) ES_DEGR=6. 
IF (P35A=6) ES_DEGR=7. 
IF (P35A=7) ES_DEGR=8. 
IF (P35A=8) ES_DEGR=9. 
IF (P35A=9) ES_DEGR=10. 
IF (P35A=10) ES_DEGR=11. 
IF (P35A=11) ES_DEGR=12. 
IF (P35A=99) ES_DEGR=99. 
IF (P35=9) ES_DEGR=99. 
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DEGREE – R: Education II: categories 

 National Language English Translation 

Question no. 
and text 

THE SAME TWO QUESTIONS ( 35 
AND 35a), and THE SAME FILTERS 
USED TO CONSTRUCT ES_DEGR, 
APPLY HERE TO CONSTRUCT 
DEGREE 

 THE SAME TWO QUESTIONS ( 35 
AND 35a), and THE SAME FILTERS 
USED TO CONSTRUCT ES_DEGR, 
APPLY HERE TO CONSTRUCT 
DEGREE 

Codes/ 
Categories 

  
  
  

Interviewer 
Instruction 

Same Interviewer instructions as in 
ES_DEGR 

Same Interviewer instructions as in 
ES_DEGR 

Note Same note as in ES_DEGR 
 
Filter Variable(s) and Conditions: 
SAME FILTER AS IN ES_DEGR 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules DEGREE 

if (question 35 = 1 or 2) or (quest35=3 and quest35a=1) 0. No formal education 
Else if question 35 = 3 and question35a = 2  1. Primary school 

Else if question 35 = 3 and question35a = 3 
2. Lower secondary (secondary 
completed does not allow entry to 
university: obligatory school) 

Else if question 35 = 3 and question35a = 5 3. Upper secondary (programs that 
allow entry to university) 

Else if question 35 = 3 and question35a = 4 or 6 
4. Post secondary, non-tertiary (other 
upper secondary programs toward 
labour market or technical formation) 

Else if question 35 = 3 and question35a = 7 or 8 5. Lower level tertiary, first stage (also 
technical schools at a tertiary level) 

Else if question 35 = 3 and question35a = 9, 10 or 11 6. Upper level tertiary (Master, Dr.) 
Else if question35 =9 or (quest35=3 and quest35a=99) 9. No answer 
 

Optional: Recoding Syntax 
COMPUTE DEGREE=9. 
IF (P35=1 OR P35=2) DEGREE=0. 
IF (P35=3 AND P35A=1) DEGREE=0. 
IF (P35=3 AND P35A=2) DEGREE=1. 
IF (P35=3 AND P35A=3) DEGREE=2. 
IF (P35=3 AND P35A=5) DEGREE=3. 
IF (P35=3 AND (P35A=4 OR P35A=6)) DEGREE=4. 
IF (P35=3 AND (P35A=7 OR P35A=8)) DEGREE=5. 
IF (P35=3 AND (P35A=9 OR P35A=10 OR P35A=11)) DEGREE=6. 
IF (P35=9) DEGREE=9. 
IF (P35=3 AND P35A=99) DEGREE=9. 
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WORK – Currently, formerly, or never in paid work 

 National Language English Translation 

Question no. 
and text 

P39 ¿En cuál de las siguientes 
situaciones se encuentra Vd. 
actualmente?  

Q. 39 Which of the following situations 
applies to you at present? 

 

Codes/ 
Categories 

1. Trabaja de forma remunerada 1. He/she is working for pay 

2. Jubilado o pensionista (anteriormente 
ha trabajado) 

2. Retired or pensioner (previously 
working) 

3.Pensionista (anteriormente no ha 
trabajado) 

4. Parado y ha trabajado antes 

5. Parado y busca su primer empleo 

6. Estudiante 

7. Trabajo doméstico no remunerado 

9. Aprendiz, prácticas, becario/a (con 
contrato) 

10.* Baja por enfermedad o incapacidad 
permanente 

8. Otra situación, ¿cuál? _________ 

________________________________
_______________________________ 

9. No contesta 

3. Pensioner (previously not working) 

4. Unemployed  (previously working) 

5. Unemployed and looking for his/her 
first job 

6. Student 

7. Domestic work (unpaid) 

9. Apprentice, practice, scholarship 
holder (with contract) 

10.* Leave of absence for sickness or 
permanently disabled 

8. Other situation, which one?_______ 

 

9. No answer 

Interviewer 
Instruction 

MOSTRAR TARJETA M 

Las preguntas 40-44a referirlas: 

-Si 01 en P39, al trabajo actual  

-Si 02 ó 04 en P39, al último trabajo 

-Si 03,05,06,07,08,09 ó 10,  al trabajo 
de la persona que aporta más ingresos 
al hogar. SI EL CÓNYUGE/PAREJA 
ES QUIEN APORTA MÁS 
INGRESOS (1 en P.38a), ANOTE 1 
EN P45 Y PASAR A P46 

DISPLAY CARD  M 

Questions 40-44a  must be referred to: 

-present job (if 01   in P39) 

-most recent job (if 02 or 0 4 in P39) 

-to the job of the person with highest 
earnings in household (if 03,05,06,07, 
08,09 or 10 in P39). IF THE 
HUSBAND/PARTNER EARNS 
HIGHEST INCOME IN 
HOUSEHOLD (1 en P38a), CIRCLE 
1 IN Q45 AND GO TO Q46 

 
 
Note 

*WARNING!!! CODE 10 SHOULD SAY: PERMANENT LEAVE OF 
ABSENCE OR PERMANENTLY DISABLED. As it is, it puts together those 
who are out of work because of a temporary absence for sickness and those 
permanently disabled. Therefore, there may be working people who are 
classified as nonworking  by mistake.   
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(WORK – Currently or never in paid work) 

 National Language English Translation 

Question no. 
and text 

P39a  ¿Está realizando, además, algún 
tipo de trabajo de forma remunerada (a 
tiempo parcial, ocasional, etc.) 

Q39a Are you engaged, besides, in any 
kind of paid work (part time, 
occasionally, etc?)  

Codes/ 
Categories 

1. Sí 1. Yes 
2. No. 2. No 
9.N.C. 9. NA 

Interviewer 
Instruction 

  

Note Question 39a refers to codes 06 and 07 (student and housework) in Q39. This 
question, as it is in the Spanish questionnaire, does not specify enough the kind of 
paid work that students or houseworkmen/women may do, besides their other main 
status: it does not say –as it should- “at least one hour of paid work per week”.  

 
Filter Variable(s) and Conditions: 
IF question 39 = 01-05 or 09-99, SKIP TO 39b 

 

 National Language English Translation 

Question no. 
and text 

P39b  ¿Recibe alguna remuneración por 
esa actividad? 

Q39b Do you get any payment for that 
activity? 

Codes/ 
Categories 

1. Sí 1. Yes 
2. No. 2. No 
9.N.C. 9. NA 

Interviewer 
Instruction 

  

Note Question 39a refers to codes 09 (student and housework) in Q39 
 
Filter Variable(s) and Conditions: 
IF question 39 = 01-07 or 10-99, SKIP TO 39c 
 

(WORK – Formerly, or never in paid work) 

 National Language English Translation 

Question no. 
and text 

P39c  Y en el pasado, ¿ha trabajado en 
alguna ocasión de forma remunerada? 

Q39c 

Codes/ 
Categories 

1. Sí 1. Yes 
2. No. 2. No 
9.N.C. 9. NA 

Interviewer 
Instruction 

A QUIENES CONTESTAN 06, 07, 08, 09 ó 10 
EN P.39 TO THOSE WHO ANSWER 06, 07, 

08, 09 or 10 in Q39  
 
 
 
Filter Variable(s) and Conditions: 
IF question 39 = 01-05 or 99, SKIP TO question 40 
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.Construction/Recoding: 

Country Variable Codes/Construction Rules WORK 

If question 39 = 01  
Else question39 = 06 or 07 and question39a=1 
Else question39 = 09 and question39b=1 

1. Currently in paid work 

else question 39 = 02 or 04 
else question 39 = 06 or 7 and q39c=1 and q39a ≠ 1 
else question 39 = 09 and q39c=1 and q39b ≠ 1 
else question 39 = 08 or 10 and q39c=1 

2. Currently not in paid work, paid work 
in the past 

Else question 39 = 03  
Else question 39 = 05 – 10 and P39c=2 or 9  3. Never had a paid work 

Else question 39 = 99 9. No answer 
 

Optional: Recoding Syntax 
IF (P39=1) WORK=1. 
IF (P39=2 OR P39=4) WORK=2. 
IF (P39=3 OR P39=5 OR P39=6 OR P39=7 OR P39=8 OR P39=9 OR P39=10) WORK=3. 
IF ((P39=6 OR P39=7) AND P39A=1) WORK=1. 
IF (P39=9 AND P39B=1) WORK=1. 
IF ((P39=6 OR P39=7) AND P39C=1 AND P39A NE 1) WORK=2. 
IF (P39=9 AND P39C=1 AND P39B NE 1)WORK=2. 
IF ((P39=8 OR P39=10) AND P39C=1) WORK=2. 
IF (P39=99) WORK=9. 

 
WRKHRS – Hours worked weekly 

 National Language English Translation 

Question no. 
and text 

P40 ¿Aproximadamente, cuantas horas 
trabaja (o trabajaba), remuneradamente, 
a la semana, como promedio, 
incluyendo horas extra? 

Q40 How many hours, about, do you  
(or did you)  work for a pay, per week, 
on average, including overtime work?  

Codes/ 
Categories 

Como promedio, trabaja/ba  

_________ nº de horas a la semana, 
incluidas horas extra 

On average I work/ed 

_________ N. of hours/weekly, 
included overtime 

  

99. No contesta 99. No Answer 

Interviewer 
Instruction 

Same interviewer instructions as in 
WORK, referring to questions 40-44a 

Same interviewer instructions as in 
WORK, referring to questions 40-44a 

Note Spanish data recoded for ISSP WRKHRS variable only include respondents 
currently in paid work (question 39=1). 
 
BUT, 1) Spanish data include working hours information not only on respondents 
currently in paid work, but also on those who have worked in the past (codes 02 
and 04 in question 39,  besides codes (06-10 in Q39 and  1 in Q39c).  
 
And 2), Even  when respondents “never had a paid job” (codes 03, 05, 06,07,08,10 
in question 39), Spanish data provide information on working hours, referred, in 
those cases, to the person who earns most in household, WHEN THAT PERSON 
IS NOT THE SPOUSE/PARTNER).  
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3) THUS, code 0 in WRKHRS includes “9 cases” more than it should: those who 
are coded 03,05,06,07,08,09 or 10 in Q39, but who have a paid job currently (1 en 
WORK), and who do not answer questions 40-44 because their partners bring 
highest income to the household (See Interviewer instruction in Q39) 

 
Filter Variable(s) and Conditions: 
IF question 39 = 02-10, SKIP  Q40   
 

Country Variable Codes/Construction Rules WRKHRS 

IF question 40 = 1 1. One hour 
..... … 
Else question 40 = 96 and more 96. 96 hours and more 
Not used 98. Don’t know 
IF question 40=99 
Else WORK = 9 99. No answer 

If WORK = 2 or 3 
Else WORK = 1 and question 40 = 0 *(SEE Note above) 00. NAP (Code 2 or 3 in WORK) 

 
Optional: Recoding Syntax 
COMPUTE WRKHRS=P40. 
RECODE WRKHRS (0=99). 
IF (P40=0 AND WORK=1) WRKHRS=0. 
IF (WORK=2 OR WORK=3) WRKHRS=0. 
IF (WORK=9) WRKHRS=99. 
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    EMPREL – Employment relationship 

 National Language English Translation 

Question no. 
and text 

P42 ¿Usted (o la persona que aporta 
más ingresos al hogar) trabaja (o 
trabajaba) como… 

Q42 Do/did you (or the person who 
earns more income in your hosehold) 
work as……… 

Codes/ 
Categories 

1. Asalariado/a  fijo/a (a sueldo, 
comisión, jornal etc., con carácter fijo)          

1. Permanent wage earner, (for a wage, 
commission, day´s work, etc., with a 
permanent character) 

2. Asalariado/a eventual o interino/a (a 
sueldo, comisión, jornal, etc., con 
carácter temporal e interino) 
3. Empresario/a o profesional con 
asalariados  
4. Profesional o trabajador/a 
autónomo/a (sin asalariados) 
5. Ayuda familiar (sin remuneración 
reglamentada en la empresa o negocio 
de un familiar) 
6. Miembro de una cooperativa 
7. Otra situación , ¿cuál?__________ 
_____________________________  
9. NC 

2. Temporary wage earner (for a wage, 
commission, day´s work, etc., with a 
temporary character) 
3. Employer or professional with 
employees 
4. Professional or self-employed 
(without employees) 
5. Family help (without a regulated pay 
in the family business) 
 
6. Member of a cooperative 
7. Other situation Wich one? ________ 
9. NA 
 

Interviewer 
Instruction 

MOSTRAR TARJETA  N 
Códigos 1 y 2 PASAR 
DIRECTAMENTE  a P 42b 

SHOW CARD  N 
Codes 1 and 2 SKIP QUESTION 36a 
and GO DIRECTLY TO 42b 

Note Applies same Interviewer Instruction as in WORK, referred to questions 40-45 
 
Code 0 in EMPREL includes “94 cases” more than it should: those coded 
03,05,06,07,08,09 or 10 in Q39, but who have a paid job currently or in the past (1 
or 2 en WORK), and who do not answer questions 40-44 their partners bring 
highest income to the household (See Interviewer instruction Q39). 

Filter Variable(s) and Conditions: 
IF question 39 = 03 or  05, SKIP Q42 
Else question 39 = (06-10 and  question 39c=2-9), SKIP question 42 
Else question 39 = 06-10 and question 38a=1), SKIP Q42 

Country Variable Codes/Construction Rules EMPREL 

If question 42 =1 or 2 1. Employee 
Else question 42 = 4 or 6 2. Self-employed without employees 
Else question 42 = 3 3. Self-employed with employees 
Else question 42 = 5 4. Working for own family’s business 
Else question 42 = 7 or 9 9. No answer 
If WORK = 3 
Else if WORK = 1 or 2 and question42 = 0. 
*(SEE Note above) 

0. NAP (code 3 in WORK) 
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Optional: Recoding Syntax 
COMPUTE EMPREL=9. 
IF (P42=0) EMPREL=7. 
IF (P42=1 OR P42=2) EMPREL=1. 
IF (P42=4 OR P42=6) EMPREL=2. 
IF (P42=3) EMPREL=3. 
IF (P42=5) EMPREL=4. 
IF (P42=7 OR P42=9) EMPREL=9. 
IF (WORK=3) EMPREL=0. 
RECODE EMPREL (7=0). 

 
NEMPLOY - Self employed: how many employees 

 National Language English Translation 

Question no. 
and text 

P42a  Aproximadamente, ¿cuantos 
empleados/as  tiene (o tenía) Ud. (o la 
persona que aporta más ingresos al 
hogar?), sin contarse a Ud. mismo/a /la 
persona que aporta más ingresos al 
hogar? 

Q42a Approximately, how many 
employees do (or did) you (or the 
person with the highest earnings to the 
household) have, excluding yourself/the 
person with the highest earnings in your 
household? 

Codes/ 
Categories 

------------------- Nº de empleados --------------- N. of employees 

998. No sabe 998. D.K.  

999. No contesta 999. NA 

Interviewer 
Instruction 

SAME INTERVIEWER  
INSTRUCTION AS IN WORK, 
REFERRED TO QUESTIONS 40-45  

 

Note  
 

Filter Variable(s) and Conditions: 
F question 42 =1 or 2 or 4 - 7, SKIP Q42a  
 

Country Variable Codes/Construction Rules NEMPLOY 

If question 42a = 1 1. 1 employee 
........... … 
If question 42a = 9995 or more 9995. 9995 employees or more 
If question 42a = 999 
Else question 42a = 998 
Else EMPREL = 9 

9999. No answer 

 0000. NAP (Code 1, 2, 4, 0 in 
EMPREL) 

 
Optional: Recoding Syntax 
COMPUTE NEMPLOY=P42A. 
IF (EMPREL=0 OR EMPREL=1 OR EMPREL=2 OR EMPREL=4) NEMPLOY=0. 
RECODE NEMPLOY (998,999=9999). 
IF (EMPREL=9) NEMPLOY=9999. 

ISS
P 2

01
2 S

pa
in



  15 

Documentation for ISSP background variables, ISSP 2011, ISSP 2012 © GESIS 15 

WRKSUP - Supervise other employees 

 National Language English Translation 

Question no. 
and text 

P.44 ¿Supervisa/ba Vd. o es/era 
responsable (supervisa/ba o es/era 
responsable la persona que aporta más 
ingresos al hogar) del trabajo de otras  
personas/empleados/as? 

Q. 44 Do/did you  (or the person with 
highest earnings in your household) 
supervise or is/were responsible  of the 
work of other people/employees? 

Codes/ 
Categories 

1. Si 1. Yes 

2. No 2. No 

9. No contesta 9. No answer 

Interviewer 
Instruction 

SAME INTERVIEWER  
INSTRUCTION AS IN WORK, 
REFERRED TO QUESTIONS 40-44a 

  

Note Code 0 in WRKSUP includes “94 cases” more than it should: those who are coded 
03,05,06,07,08,09 or 10 in Q39, but who have a paid job currently, or in the past, 
(1 or 2 en WORK), and who do not answer questions 40-44 because  their partners  
bring highest income to the household. (See Interviewer instruction Q39) 

 

Filter Variable(s) and Conditions: 
IF question 39 =03 or ( 05 – 10 and question 39c=2 or 9), SKIP QUESTION 44 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules WRKSUP 

IF question 44 = 1 1. Yes 
Else question 44 =2 2. No 
Else question 44 = 9 9. No answer 
If WORK = 3 
Else if WORK = 1 or 2 and question44 = 0. 
*(SEE Note above) 

0. NAP (Code 3 in WORK) 

 
Optional: Recoding Syntax 
COMPUTE WRKSUP=P44. 
IF (P44=0) WRKSUP=7. 
IF (WORK=3) WRKSUP=0. 
RECODE WRKSUP (7=0). 
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NSUP – Number of other employees supervised 

 National Language English Translation 

Question no. 
and text 

P 44a ¿A cuantos/as empleados/as 
supervisaba? 

Q44a How many employees did you 
supervise? 

Codes/ 
Categories 

Nº de empleados/as_______________ 
N.C……………….99 

N. of  employees_______________ 
NA………………..99 

  
  

Interviewer 
Instruction 

SAME INTERVIEWER  
INSTRUCTION AS IN WORK, 
REFERRED TO QUESTIONS 40—
44a 

 

Note  
 

Filter Variable(s) and Conditions: 
IF question 44 = 2-9, SKIP QUESTION 44a 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules NSUP 

If question44a = 1  1. 1 employee 
………. … 
If question 44a=96 100. 100 employees or more 
……….. 9995. 9995 employees or more 
If question 44a = 99 
Else if question44=1 and question44a=0 
Else if WRKSUP=9 

9999. No answer 

 0000. NAP. (Code 2, 0 in WRKSUP) 
 

Optional: Recoding Syntax 
COMPUTE NSUP=P44A. 
IF (WRKSUP=0 OR WRKSUP=2) NSUP=0. 
IF (P44=1 AND P44A=0) NSUP=9999. 
IF (WRKSUP=9) NSUP=9999. 
RECODE NSUP (98,99=9999). 
RECODE NSUP (96=100). 
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TYPORG1 – Type of organisation, for-profit/non-profit 

 National Language English Translation 

Question no. 
and text 

P42b ¿Trabaja/ba Vd (o la persona que 
aporta más ingresos al hogar) en la 
Administración Pública, en una empresa 
pública, en una empresa privada, en una 
organización privada sin fines de lucro 
o en el servicio doméstico? 

Q42b Do/did you (or the person who 
earns most in the household) work in 
the Public Administration, in a public 
company, in a private company, in a 
non-profit organization or in house-
keeping? 

Codes/ 
Categories 

1. Administración Pública 1. Public Administration 

2. Empresa pública 2. Public company 

3. Empresa privada 

4. Organización sin fines de lucro 

5. Servicio doméstico 

6. Otros (especificar)_______________ 

9. No contesta 

3. Private company 

4. Non-profit organization 

5. House-keeping 

6. Other (specify)__________________ 

9. No answer 

Interviewer 
Instruction 

Si se trata de un funcionario, anote 
también Grupo (A, B, C, D, E) y nivel 
(1-30) del puesto de trabajo  

If respondent  is a civil servant, write 
also down Group letter (A, B,C,D,E) 
and level (1-30) of work position   

Note Code 0 in  TYPORG1 incudes “94 cases” more than it should: those who are 
coded 03,05,06,07,08,09 or 10 in Q39, but who have a paid job currently, or in the 
past, (1 or 2 en WORK), and who do not answer questions 40-44 because their 
partners bring highest income to the household. (See Interviewer Instruction Q39) 

 

Filter Variable(s) and Conditions: 
IF QUESTION 42 = 3 – 9, SKIP QUESTION 42b 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules TYPORG1 

If question 42b = 2, 3 or 5 
Else if question 42 = 3, 4, 5 or 6 1. For-profit organisation 

Else question 42b = 1 or 4 2. Non-profit organisation 
If question 42b = 6 8. Don’t know 
if question 42b = 9 
else if EMPREL = 9 9. No answer 

If WORK = 3 
Else if WORK = 1 or 2 and question42 = 0. 
*(SEE Note above) 

0. NAP (Code 3 in WORK) 

 

Optional: Recoding Syntax 
COMPUTE TYPORG1=P42B. 
RECODE TYPORG1 (6=8) (2,3,5=1) (1,4=2). 
IF (EMPREL=2 OR EMPREL=3 OR EMPREL=4) TYPORG1=1. 
IF (EMPREL=9) TYPORG1=9. 
IF (WORK=3) TYPORG1=0. 
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TYPORG2 – Type of organisation, public/private 

 National Language English Translation 

Question no. 
and text 

P42b ¿Trabaja/ba Vd (o la persona que 
aporta más ingresos al hogar) en la 
Administración Pública, en una empresa 
pública, en una empresa privada, en una 
organización privada sin fines de lucro 
o en el servicio doméstico? 

Q42b Do/did you (or the person who 
earns most in the household) work in 
the Public Administration, in a public 
company, in a private company, in a 
non-profit organization or in house-
keeping? 

Codes/ 
Categories 

1. Administración Pública 1. Public Administration 

2. Empresa pública 2. Public company 

3. Empresa privada 

4. Organización sin fines de lucro 

5. Servicio doméstico 

6. Otros (especificar)_______________ 

9. No contesta 

3. Private company 

4. Non-profit organization 

5. House-keeping 

6. Other (specify)__________________ 

9. No answer 

Interviewer 
Instruction 

Si se trata de un funcionario, anote 
también Grupo (A, B, C, D, E) y nivel 
(1-30) del puesto de trabajo  

If respondent  is a civil servant, write 
also down Group letter (A, B,C,D,E) 
and level (1-30) of work position   

Note Warning!! Code 4 (Non profit organization) in  question 42b can be either 
Public or Private organizations, although in TYPORG2 it is treated as “Private 
employer” 
Code 0 in  TYPORG2 incudes “94 cases” more than it should: those who are 
coded 03,05,06,07,08,09 or 10 in Q39, but who have a paid job currently, or in the 
past, (1 or 2 en WORK), and who do not answer questions 40-44 because their 
partnesr who bring highest income to the household. (See Interviewer instruction 
in Q39) 

 
Filter Variable(s) and Conditions: 
IF QUESTION 42 = 3 – 9, SKIP QUESTION 42b 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules TYPORG2 

If question 42b = 1 or 2  1. Public employer 
Else question 42b = 3 or 4 or 5 
Else if question 42 = 3, 4, 5 or 6 2. Private employer 

If question 42b = 6 8. Don’t know 
if question 42b =9 
else if EMPREL = 9 9. No answer 

If WORK = 3 
Else if WORK = 1 or 2 and question42 = 0. 
*(SEE Note above) 

0. NAP (Code 3 in WORK) 
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Optional: Recoding Syntax 
COMPUTE TYPORG2=P42B. 
RECODE TYPORG2 (1,2=1) (3,4,5=2) (6=8). 
IF (EMPREL=2 OR EMPREL=3 OR EMPREL=4) TYPORG2=2. 
IF (EMPREL=9) TYPORG2=9. 
IF (WORK=3) TYPORG2=0. 

 
ISCO88 - Occupation ISCO 1988 

Please give the text of the source question(s) on the respondent’s occupation used in your 
field questionnaire. If ISCO88-codes are not coded directly from the responses, but derived 
from a country-specific occupation coding scheme, please provide a table of 
correspondence between country-specific and ISCO88 codes attached as a separate file. 
Please report which kind of ISCO code you apply. The most common ones are the code 
developed by the International Labour Organisation (ILO) and the variant developed for 
the European Union (EU), ISCO-COM. If you apply another variant such as ISCO88-CIS 
developed by the Statistical Committee of the Commonwealth of Independent States, then 
please specify. 

Please do not enter standard ISCO88 codes here. But please report if your country adds 
or changes codes compared to ISCO88, if any. 

Occupations should be coded on the 4-digit level of ISCO88. Occupational area 0 (Armed 
Forces occupations) needs some special attention. Since the ISCO variable is numeric, the 
4-digit code 0110 will usually appear as 110 in the data file. It is therefore suggested that 
the only valid 3-digit code in the data file is 110 (Armed Forces).  
 
In some special cases information concerning the occupation may be insufficient for 4-
digit coding. Instead of coding these cases as [9998] “inadequately described” use 3-digit 
coding. In those very special cases where 3-digit coding is applied, fill in a zero for the 
missing digit. Example: code 131 is coded as 1310. 
 

 National Language English Translation 

Question no. 
and text 

P41 ¿Y cual es/era su última ocupación 
u oficio? Es decir, en qué consiste/tía 
específicamente su trabajo? (Precisar lo 
más posible las actividades realizadas. 
EJEMPLO: auxiliar de clínica, agente 
de seguridad, esteticista, guarda 
forestal, terapeuta ocupacional, 
patronista de ropa, etc.). Nos referimos 
a su ocupación principal: aquélla por la 
que Ud. (o la persona que aporta más 
ingresos al hogar) obtiene/nía mayores 
ingresos.   

Q. 41 And which was your last 
occupation or trade?  That is, in what 
does/did your work consist of, 
specifically? (Please be as precise as 
possible, describing the tasks you 
do/did. EXAMPLE:   clinic assistant, 
security agent, aesthetician, ranger, 
occupational therapist, dressmaker, 
etc.). We are referring to your main 
occupation:  the one for which you (or 
the person who earns most in the 
household) obtaines/ned your/his/her 
highest earnings. 

Interviewer 
Instruction 

SAME  INTERVIEWER  
INSTRUCTION AS IN WORK, 
APPLIES HERE:  REFERRED TO 
QUESTIONS 40-45, 
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Note Spanish questionnaire has a double coding of occupation: ISCO 88- ILO and the 
Spanish National Classification of Occupations (CNO-94), which is an official 
adaptation of ISCO 88 
Code 0 in  ISCO88 incudes “94 cases” more than it should: those who are coded 
03,05,06,07,08,09 or 10 in Q39, but who have a paid job currently, or had it in the 
past, (1 or 2 en WORK), and who do not answer questions 40-44 because their 
partners bring highest income to the household.(See Interviewer Instruction Q39) 

Use of ISCO ISCO88 (ILO) 

 
 

ISCO88-COM (EU variant) 
 

 

Other ISCO88 variant 
CNO-94 

→please specify 
Spanish official adaptation of ISCO-88 
 
 

 
Filter Variable(s) and Conditions: 
IF question 39 = 03 or (05 – 10 and question 39c=2 – 9), SKIP QUESTION 41 
 
 
Construction/Recoding: 

Country Variable Codes/ 
Construction Rules  ISCO88 

If question41 = 0110 0110. (ISCO88 unit codes) 
…. … 
Else Q41 = 9333  9333. (ISCO88 unit codes) 
Else Q41 = 9998 9998. Don’t know; inadequately 

described 

If Q41 = 9999 
Else if WORK = 9 9999. No answer 

If WORK = 3 
Else if WORK = 1 or 2 and question41 = 0. 
*(SEE Note above) 

0000. NAP (Code 3 in WORK) 

 

Optional: Recoding Syntax 
COMPUTE ISCO88=P4102. 
IF (WORK=3) ISCO88=0. 
IF (WORK=9) ISCO88=9999. ISS
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MAINSTAT – Main status 

 National Language English Translation 

Question no. 
and text 

P. 39 ¿En cuál de las siguientes 
situaciones se encuentra Vd. 
actualmente?  

Q. 39 Which of the following situations 
applies to you at present? 

 

Codes/ 
Categories 

01. Trabaja de forma remunerada 1. He/she is working for pay 

02. Jubilado o pensionista 
(anteriormente ha trabajado) 

2. Retired or pensioner (previously 
working) 

03.Pensionista (anteriormente no ha 
trabajado) 

04. Parado y ha trabajado antes 

05. Parado y busca su primer empleo 

06. Estudiante 

07. Trabajo doméstico no remunerado 

09. Aprendiz, prácticas, becario/a (con 
contrato) 

10*. Baja por enfermedad o incapacidad 
permanentes 

08. Otra situación, ¿cuál?__________ 

_____________________________ 

 99. No contesta 

3. Pensioner (previously not working) 

4. Unemployed  (previously working) 

5. Unemployed and looking for his/her 
first job 

6. Student 

7. Domestic work (unpaid) 

9. Apprentice, practices, scholarship 
holder (with contract) 

10. Leave of absence for sickness or 
permanently disabled 

8. Other situation, which one?_______ 

 

99. No answer 

Interviewer 
Instruction 

DISPLAY SHOW CARD  M 
SAME INTERVIEWER  
INSTRUCTION AS IN WORK, 
CONCERNING  QUESTIONS 40-44a 

 

Note *WARNING!!! 
 CODE 10 SHOULD SAY: PERMANENT LEAVE OF ABSENCE OR 
PERMANENTLY DISABLED. As it is, it puts together those who are out of 
work because of a temporary absence for sickness and those permanently 
disabled. Therefore, there may be working people who are classified as 
nonworking  by mistake.   

 
Filter Variable(s) and Conditions:  
No filter 
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Construction/Recoding: 

Country Variable Codes/Construction Rules MAINSTAT 

If question 39 =01  1. In paid work 
Else = 04 or 05 2. Unemployed and looking for a job 
Else = 06 3. In education 
Else = 09  4. Apprentice or trainee 
Else = 10* (SEE Note above) 5. Permanently sick or disabled 
Else = 02 6. Retired 
Else = 07 7. Domestic work 

Not used 8. In compulsory military service or 
community service 

Else = 03 or 08 9. Other 
Else =99 99. No answer 
 

Optional: Recoding Syntax 
COMPUTE MAINSTAT=P39. 
RECODE MAINSTAT (1=1) (4,5=2) (6=3) (9=4) (10=5) (2=6) (7=7) (3,8=9) (99=99). 
 

PARTLIV – Living in steady partnership 

 National Language English Translation 

Question no. 
and text 

P17 ¿En cuál de las siguientes 
situaciones se encuentra usted en la 
actualidad? 

Q 17 ¿In which of these situations are 
you at present? 

Codes/ 
Categories 

1. Tengo pareja o cónyuge y 
compartimos la misma vivienda 

1. I have a partner/spouse and we live in  
same household 

2. Tengo pareja o cónyuge y no 
compartimos la misma vivienda 

2. I have a partner/spouse and we do not 
share the same household 

3. No tengo pareja ni cónyuge 
9. No contesta 

3. I have not a partner/spouse________ 
9. No answer 

Interviewer 
Instruction 

Those in code “1”            GO TO Q18 
   “      “     “    “2” or “3” GO TO Q26 

Note  
Filter Variable(s) and Conditions:  
No filter 
 
Construction/Recoding:  
Country Variable Codes/Construction Rules  PARTLIV 

If question 17 =1 1. Yes, have partner; live in same household 

Else question 17 = 2 2. Yes, have partner; don’t live in same 
household 

Else question 17 = 3 3. No partner 
Not used 7. Refused 
Else question 17 = 9 9. No answer 
 

Optional: Recoding Syntax 
COMPUTE PARTLIV=P17. 
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SPWORK – Spouse, partner: currently, formerly or never in paid work 

 National Language English Translation 

Question no. 
and text 

P48 ¿En cuál de las siguientes 
situaciones se encuentra su 
cónyuge/pareja actualmente? 
 

Q.40 Which of the following situations 
applies to your spouse/partner at 
present? 

 

Codes/ 
Categories 

1. Trabaja de forma remunerada 1. He/she is working for pay 

2. Jubilado o pensionista (anteriormente 
ha trabajado) 

2. Retired or pensioner (previously 
working) 

3.Pensionista (anteriormente no ha 
trabajado) 

4. Parado y ha trabajado antes 

5. Parado y busca su primer empleo 

6. Estudiante 

7. Trabajo doméstico no remunerado 

9. Aprendiz, prácticas, becario/a (con 
contrato) 

10*. Baja por enfermedad o incapacidad 
permanente 

8. Otra situación, cuál?__________ 

 98. NS__________________________ 

99. No contesta 

3. Pensioner (previously not working) 

4. Unemployed  (previously working) 

5. Unemployed and looking for his/her 
first job 

6. Student 

7. Domestic work (unpaid) 

9. Apprentice, practice, scholarship 
holder (with contract) 

10. Permanent leave of absence for 
sickness or permanently disabled 

8. Other situation, which one?_______ 

98. D.K. 

99. No answer 

Interviewer 
Instruction 

MOSTRAR TARJETA M 

ENTREVISTADOR/A: 

las preguntas 49-53 referirlas: 

-al trabajoactual del cónyuge/ pareja   
(si 01 ó 09 en p.48) 

-al último trabajo del cónyuge /pareja 
(si 2 ó 4 en P.48) 

ATENCIÓN: Si el cónyuge /pareja es 
03,05, 06, 07, 08, or 10 en P48, PASAR 
DIRECTAMENTE A P54) 

DISPLAY CARD  M 

QUESTIONS 46 -50 ONLY TO 
THOSE WHO ANSWERED 1 IN Q45 
(HE/SHE HAS PARTNER/ SPOUSE, 
WHETHER THEY LIVE 
TOGHETHER OR NOT)  

Questions 49-53  must be referred to: 

-present job of spouse /partner (if 01 or 
09 in P48) 

-last job of spouse /partner (if 2 or 4 in 
P48) 

WARNING: If spouse/partner = 03, 
05, 06, 07, 08 or 10, GO DIRECTLY 
TO Q54)   

Note *WARNING!!! CODE 10 SHOULD SAY: PERMANENT LEAVE OF 
ABSENCE OR PERMANENTLY DISABLED. As it is, it puts together those 
who are out of work because of a temporary absence for sickness and those 
permanently disabled. Therefore, there may be working people who are 
classified as nonworking  by mistake.   
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Filter Variable(s) and Conditions:  
If question 45 = 2 (he/she does not have spouse/ partner, whether they live together or 
not) SKIP questions 46 - 53 
 

SPWORK – Spouse, partner: currently, formerly or never in paid work 

 National Language English Translation 

Question no. 
and text 

P48a Y en el pasado, ¿ha trabajado su 
cónyuge/pareja en alguna ocasión de 
forma remunerada? 

Q48a What about the past? Has your 
spouse/partner worked for pay anytime? 

Codes/ 
Categories 

1. Si 1. Yes 
2. No  2. No 
8. No sabe 8. DK 
9. No contesta 9. NA 

Interviewer 
Instruction 

Same Interviewer instruction as in 
Question 48 

 Same Interviewer instruction as in 
Question 48 

Note  
 
Filter Variable(s) and Conditions:  
If question 45 = 2 (he/she does not have spouse/ partner, whether they live together or 
not) SKIP questions 46 - 53 
Else question 48 = 01-05, SKIP QUESTION 48a and GO TO QUESTION 49 
 
Construction/Recoding:  
Country Variable Codes/Construction Rules  SPWORK 

If question 48= 1 1. Currently in paid work 
Else question 48= 2 or 4 
Else question 48= 06-10 and question 48a=1 

2. Currently not in paid work, paid work in the 
past 

Else question 48 =03, 05,  
Else question 48 = 06-10 and question 48a= 2 3. Never had paid work 

Else question 48= 99 
Else question 48 =98 (DK) 
Else question 17 = 9 

9. No answer 

 0. NAP (Code 3 in PARTLIV) 
 

Optional: Recoding Syntax 
IF (P48=1) SPWORK=1. 
IF (P48=2 OR P48=4) SPWORK=2. 
IF (P48=3 OR P48=5 OR P48=6 OR P48=7 OR P48=8 OR P48=9 OR P48=10) SPWORK=3. 
IF ((P48 GE 6 AND P48 LE 10) AND P48A=1) SPWORK=2. 
IF (P48=98 OR P48=99) SPWORK=9. 
IF (PARTLIV=9) SPWORK=9. 
IF (PARTLIV=3) SPWORK=0. 
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SPWRKHRS – Spouse, partner: hours worked weekly 

 National Language English Translation 

Question no. 
and text 

P. 49 ¿Aproximadamente, cuantas horas 
trabaja (o trabajaba), su cónyuge o 
pareja, remuneradamente, a la semana, 
como promedio, incluyendo horas 
extra? 

Q. 49 How many hours, about, does/did  
your partner work for pay, per week, on 
average, including overtime work?  

Codes/ 
Categories 

Como promedio, trabaja/ba  

_________ nº de horas a la semana, 
incluidas horas extra 

On average he/she work/ed 

_________ N. of hours/weekly, 
included overtime 

  

99. No contesta 99. No Answer 

Interviewer 
Instruction 

Same Interviewer instruction as in 
Question 48 

Same Interviewer instruction as in 
Question 48 

Note  
 
Filter Variable(s) and Conditions:  
If question 48 = 02 – 10 (not working at present), SKIP 49   
 
Construction/Recoding:  
Country Variable Codes/Construction Rules  SPWRKHRS 

If question 49= 01  1. 1 hour 
…. … 
Else question 49= 96 or more 96. 96 hours or more 
Else question 49 = 98 98. Don’t know 

Else question 49 = 99 
99. No answer 

 00. NAP (Code 2 or 3 in SPWORK) 
 

Optional: Recoding Syntax 
COMPUTE SPWRKHRS=P49. 
IF (SPWORK=9) SPWRKHRS=99. 
IF (PARTLIV=9) SPWRKHRS=99. 
IF (SPWORK=0 OR SPWORK=2 OR SPWORK=3) SPWRKHRS=0. 
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SPEMPREL – Spouse, partner: employment relationship 

 National Language English Translation 

Question no. 
and text 

P51 ¿Su cónyuge/pareja trabaja (o 
trabajaba) como.... 

Q51 What about your spouse/partner, 
does/did he/she work as.... 

Codes/ 
Categories 

1. Asalariado/a  fijo/a (a sueldo, 
comisión, jornal etc., con carácter fijo)          

1. Permanent wage earner, (for a wage, 
commission, day´s work, etc., with a 
permanent character) 

2. Asalariado/a eventual o interino/a (a 
sueldo, comisión, jornal, etc., con 
carácter temporal e interino) 
3. Empresario/a o profesional con 
asalariados  
4. Profesional o trabajador/a 
autónomo/a (sin asalariados) 
5. Ayuda familiar (sin remuneración 
reglamentada en la empresa o negocio 
de un familiar) 
6. Miembro de una cooperative 
7. Otra situación , ¿cuál?__________ 
_____________________________  
8. NS 

2. Temporary wage earner (for a wage, 
commission, day´s work, etc., with a 
temporary character) 
3. Employer or professional with 
employees 
4. Professional or self-employed 
(without employees) 
5. Family help (without a regulated pay 
in the family business) 
 
6. Member of a cooperative 
7. Other situation Wich one? ________ 
8.DK 

9. NC 9. NA 
 

Interviewer 
Instruction 

MOSTRAR TARJETA N  

Note Spanish questionnaire contains information on spouse/partners who are non- 
working population at present but did work in the past (codes 06-10 in Q48 and 
code 1 in Q48a); but Interviewer instruction after question 48a, does not allow to 
follow up this information with questions 49-53. 
Code 0 in  SPEMREL  includes “118 cases” more than it should: those coded 
06,07,08,09 or 10 in Q48, but who had a paid job  (2 in WORK), and who do not 
answer questions 49-53 in the Spanish questionnaire.  

 
Filter Variable(s) and Conditions:  
If question 45 = 2, SKIP question 51 
Else question 48 = 03 or 05 - 10, SKIP question 51  
 
Construction/Recoding:  
Country Variable Codes/Construction Rules  SPEMPREL 

If question 51 = 1 or 2 1. Employee 
Else question 51 = 4 or 6 2. Self-employed without employees 
Else question 51 = 3 3. Self-employed with employees 
Else question 51 = 5 4. Working for own family’s business 
Else question 51 = 7, 8 or 9 9. No answer 
If SPWORK = 3 
Else question 48= 06-10 and question 48a=1 and 
question51 = 0. 
*(SEE Note above) 

0. NAP (Code 3 in SPWORK) 
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Optional: Recoding Syntax 
COMPUTE SPEMPREL=9. 
IF (P51=0) SPEMPREL=7. 
IF (P51=1 OR P51=2) SPEMPREL=1. 
IF (P51=4 OR P51=6) SPEMPREL=2. 
IF (P51=3) SPEMPREL=3. 
IF (P51=5) SPEMPREL=4. 
IF (P51=7 OR P51=8 OR P51=9) SPEMPREL=9. 
IF (SPWORK=3 OR SPWORK=0) SPEMPREL=0. 
IF (SPWORK=9) SPEMPREL=9. 
RECODE SPEMPREL (7=0). 

 
SPWRKSUP – Spouse, partner: supervise other employees 

 National Language English Translation 

Question no. 
and text 

P53 ¿Supervisa/ba su cónyuge/pareja o 
es/era responsable del trabajo de otras 
personas/empleados/as? 

Q53 Does/did your spouse/partner 
supervise/ed or is/was he/she 
responsible for the work of other 
employees?  

Codes/ 
Categories 

1. Si 1. Yes 
2. No 2. No 
8. NS 8. DK 

 9. NC 9. NA 
Note Code 0 in SPWRKSUP incudes “118 cases” more than it should: those coded 

06,07,08,09 or 10 in Q48, but who have had a paid job  in the past (2 in WORK), 
and who do not answer questions 49-53 in the Spanish questionnaire.  

 

Filter Variable(s) and Conditions: 
If question 45 = 2 (he/she does not have spouse/ partner, whether they live together or 
not) SKIP question  53 
Else question 48 = 3 or 5 (partner never had a job) 
Else question 48 =(6-10 and question 48a=2) (partner never worked in the past) 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules SPWRKSUP 

IF question 53 = 1 1. Yes 
Else question 53 = 2 2. No 
Else question 53 = 8 or 9 9. No answer 
If SPWORK = 3 
Else question 48= 06-10 and question 48a=1 and 
question53 = 0.*(SEE Note above) 

0. NAP (Code 3 in SPWORK) 

 
Optional: Recoding Syntax 
COMPUTE SPWRKSUP=P53. 
IF (P53=0) SPWRKSUP=7. 
IF (SPWORK=3 OR SPWORK=0) SPWRKSUP=0. 
IF (SPWORK=9) SPWRKSUP=9. 
RECODE SPWRKSUP (7=0). 
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SPISCO88 – Spouse, partner: occupation ISCO 1988 

Please give the text of the source question(s) on the spouse’s occupation used in your field 
questionnaire. If ISCO88-codes are not coded directly from the responses, but derived 
from a country-specific occupation coding scheme, please provide a table of 
correspondence between country-specific and ISCO88 codes attached as a separate file. 
Please report which kind of ISCO code you apply. The most common ones are the code 
developed by the International Labour Organisation (ILO) and the variant developed for 
the European Union (EU), ISCO-COM. If you apply another variant such as ISCO88-CIS 
developed by the Statistical Committee of the Commonwealth of Independent States, then 
please specify. 

Please do not enter standard ISCO88 codes here. But please report if your country adds 
or changes codes compared to ISCO88, if any. 

Occupations should be coded on the 4-digit level of ISCO88. Occupational area 0 (Armed 
Forces occupations) needs some special attention. Since the ISCO variable is numeric, the 
4-digit code 0110 will usually appear as 110 in the data file. It is therefore suggested that 
the only valid 3-digit code in the data file is 110 (Armed Forces).  
 
In some special cases information concerning the occupation may be insufficient for 4-
digit coding. Instead of coding these cases as [9998] “inadequately described” use 3-digit 
coding. In those very special cases where 3-digit coding is applied, fill in a zero for the 
missing digit. Example: code 131 is coded as 1310. 
 

 National Language English Translation 

Question no. 
and text 

P50 ¿Y cual es/era la actual/última 
ocupación u oficio de su 
cónyuge/pareja? Es decir, en qué 
consiste/tía específicamente su trabajo? 
(Precisar lo más posible las actividades 
realizadas. EJEMPLO: auxiliar de 
clínica, agente de seguridad, esteticista, 
guarda forestal, terapeuta ocupacional, 
etc.). Nos referimos a su ocupación 
principal: aquélla por la que su 
cónyuge/pareja obtiene/nía mayores 
ingresos.   

Q50 And which was his/her last 
occupation or trade?  That is, in what 
does/did his/her work consnsist of, 
specifically? (Please be as precise as 
possible, describing the tasks he/she 
does/dis. EXAMPLE:   clinic assistant, 
security agent, aesthetician, ranger, 
occupational therapist, etc.). We are 
referring to his/her main occupation:  
the one for which he/she obtaines/ned 
his/her highest earnings. 

Codes/ 
Categories 
deviating from 
ISCO88 / 
ISCO88-COM 

 

______________________  NC 

_______________________ 

______________________ 

                                             (999)  

                         CNO-94  A tres dígitos 

                                            (9999) 

                               Four digits ISCO-88 

 
___________________________NA 

_____________________________ 

_____________________________ 

                                              (999) 
Three digits Spanish adaptation of 
ISCO-88 = CNO-94 (National 
Classification of  Occupations) 
                                              (9999) 
                               Four digits ISCO-88 
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Use of ISCO ISCO88 (ILO) 

 
 

ISCO88-COM (EU variant) 
 

 

Other ISCO88 variant 
 
CNO-94 
 
 

→please specify 
 
Spanish official adaptation of ISCO-88 
 

Note Code 0 in SPISCO88 incudes “118 cases” more than it should: those coded 
06,07,08,09 or 10 in Q48, but who have had a paid job  in the past (1 in Q48a = 2 
in WORK), and who do not answer questions 49-53 in the Spanish questionnaire. 

 
Filter Variable(s) and Conditions: 
 
Construction/Recoding: 

Country Variable Codes/ 
Construction Rules  SPISCO88 

If question 50 = 0110 0110. (ISCO88 unit codes) 
…...... … 
Else question 50 = 9333 9333. (ISCO88 unit codes) 

Else question 50 = 9998 9998. Don’t know; inadequately 
described 

Else question 50 = 9999 or SPWORK = 9 or 
question17=9 9999. No answer 

If SPWORK = 3 
Else question 48= 06-10 and question 48a=1 and 
question53 = 0.*(SEE Note above) 

0000. NAP (Code 3 in SPWORK) 

 
Optional: Recoding Syntax 
COMPUTE SPISCO88=P5002. 
IF (P5002=0) SPISCO88=9997. 
IF (SPWORK=9) SPISCO88=9999. 
IF (PARTLIV=9) SPISCO88=9999. 
IF (SPWORK=3 OR SPWORK=0) SPISCO88=0. 
RECODE SPISCO88 (9997=9999). 
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SPMAINST – Spouse, partner: main status 

 National Language English Translation 

Question no. 
and text 

P48 ¿En cuál de las siguientes 
situaciones se encuentra su 
cónyuge/pareja actualmente? 
 

Q.48 Which of the following situations 
applies to your spouse/partner at 
present? 

 

Codes/ 
Categories 

1. Trabaja de forma remunerada 1. He/she is working for pay 

2. Jubilado o pensionista (anteriormente 
ha trabajado) 

2. Retired or pensioner (previously 
working) 

3.Pensionista (anteriormente no ha 
trabajado) 

4. Parado y ha trabajado antes 

5. Parado y busca su primer empleo 

6. Estudiante 

7. Trabajo doméstico no remunerado 

9. Aprendiz, prácticas, becario/a (con 
contrato) 

10*. Baja por enfermedad o incapacidad 
permanente 

8. Otra situación, cuál?__________ 

 98. NS__________________________ 

99. No contesta 

3. Pensioner (previously not working) 

4. Unemployed  (previously working) 

5. Unemployed and looking for his/her 
first job 

6. Student 

7. Domestic work (unpaid) 

9. Apprentice, practice, scholarship 
holder (with contract) 

10. Permanent leave of absence for 
sickness or permanently disabled 

8. Other situation, which one?_______ 

98. D.K. 

9. No answer 

Interviewer 
Instruction 

MOSTRAR TARJETA M 

HACED PREGUNTAS 46-50 A 
QUIENES EN LA ACTUALIDAD 
ESTÁN CASADOS /AS O TIENEN 
PAREJA, AUNQUE NO VIVAN 
JUNTOS 

Las preguntas 49-53 referirlas:  

-al trabajo actual del cónyuge/ pareja   
(si 01 ó 09 en p.48) 

-al último trabajo del cónyuge /pareja 
(si 2 ó 4 en P.48) 

ATENCIÓN: Si el cónyuge /pareja es 
03,05, 06, 07, 08, or 10 en P48, PASAR 
DIRECTAMENTE A P54) 

DISPLAY CARD  M 

QUESTIONS 46 -50 ONLY TO 
THOSE WHO ANSWERED 1 IN Q45 
(HE/SHE HAS PARTNER/ SPOUSE, 
WHETHER THEY LIVE 
TOGHETHER OR NOT)  

Questions 49-53  must be referred to: 

-present job of spouse /partner (if 01 or 
09 in P48) 

-last job of spouse /partner (if 2 or 4 in 
P48) 

WARNING: If spouse/partner = 03, 
05, 06, 07, 08 or 10, GO DIRECTLY 
TO Q54)   

Note *WARNING!!! CODE 10 SHOULD SAY: PERMANENT LEAVE OF 
ABSENCE OR PERMANENTLY DISABLED. As it is, it puts together those 
who are out of work because of a temporary absence for sickness and those 
permanently disabled. Therefore, there may be working people who are 
classified as nonworking  by mistake.   
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Filter Variable(s) and Conditions:  
If question 17 = 3-9, SKIP question 46-53 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules SPMAINST 

If question 48= 01 1. In paid work 
Else question 48= 04 or 05 2. Unemployed and looking for a job 
Else question 48= 06 3. In education 
Else question 48 = 09  4. Apprentice or trainee 
Else question 48= 10* (SEE Note) 5. Permanently sick or disabled 
Else question 48 = 02 6. Retired 
Else question 48= 07 7. Domestic work 

(Not used in Spanish survey) 8. In compulsory military service or 
community service 

Else question 48= 03 or 08 9. Other 
Else question 48=99 or question 17=9 99. No answer 
 00. NAP (Code 3 in PARTLIV) 
 

Optional: Recoding Syntax 
COMPUTE SPMAINST=P48. 
RECODE SPMAINST (1=1) (4,5=2) (6=3) (9=4) (10=5) (2=6) (7=7) (3,8=9) (99=99). 
IF (PARTLIV=9) SPMAINST=99. 
IF (PARTLIV=3) SPMAINST=0. 
RECODE SPMAINST (98=99). 
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UNION – Trade union membership 

 National Language English Translation 

Question no. 
and text 

P54 ¿Está Ud. afiliado, actualmente, a  
alguna organización sindical o lo ha 
estado en el pasado? 

Q54 Are you currently a member of a 
trade union or have you been one in the 
past? 

Codes/ 
Categories 

1. Está afiliado actualmente 1. He/she is currently  a member  

2. Lo estuvo en el pasado, ahora no  2. He/she was a member in the past, not 
now 

3. Nunca lo ha estadoni ha pertenecido  

________________________________ 

9. No contesta 

3. He/she has never been a member 

_______________________________ 

9. No answer 

Interviewer 
Instructions 

A TODAS LAS PERSONAS                               FOR ALL RESPONDENTS 
ENTREVISTADAS 

Note Spanish questionnaire includes information on Union membership and on 
Professional Associations membership (question 54a) 

 
   PROFESSIONAL ASSOCIATION MEMBERSHIP 

 National Language English Translation 

Question no. 
and text 

P54a ¿Y pertenece actualmente o ha 
pertenecido a una asociación 
profesional? 

Q54a And do you belong presently or in 
the past to a professional association? 

Codes/ 
Categories 

1. Pertenece actualmenete 1. He/she is currently  a member  

2. Perteneció en el pasado, ahora no  2. He/she was a member in the past, not 
now 

3. Nunca  ha pertenecido  

________________________________ 

9. No contesta 

3. He/she has never been a member 

_______________________________ 

9. No answer 

Interviewer 
Instructions 

A TODAS LAS PERSONAS                               FOR ALL RESPONDENTS 
ENTREVISTADAS 

Note  
 
Filter Variable(s) and Conditions: 
No filter. Includes membership in a Union (Q54) and in a Professional Association 
(Q54a) 
Construction/Recoding: 

Country Variable Codes/Construction Rules UNION 

If question 54 = 1 or Q54a=1 1. Yes, currently 

else question 54 = 2 or Q54a= 2 2. Yes, previously but not currently 

else question 54 = 3 or Q54a=3 3. No, never  

   (Not used) 7. Refused 

else question 54 = 9 or Q54a = 9 9. No answer 
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Optional: Recoding Syntax 
COMPUTE UNION=9. 
IF (P54=1 OR P54A=1) UNION=1. 
IF ((P54=2 OR P54A=2) AND UNION NE 1) UNION=2. 
IF (P54=3 AND P54A=3) UNION=3. 

 
ES_RELIG – Country-specific religious affiliation 

 National Language English Translation 

Question no. 
and text 

P. 55 ¿Cómo se define Ud. en materia 
religiosa: católico, creyente de otra 
religión, no creyente o ateo? 

Q. 55 How would you define yourself 
in religious matters? Are you a catholic, 
a believer in another religion, a non-
believer or an atheist?    

Codes/ 
Categories 

1. Católico                  PASAR A P56 1. Catholic                  GO TO Q56 

2. Creyente de otra religión  

                                     PASAR A P55a 

2. Believer in another religión 

                                   GO TO Q55a 

3. No creyente______PASAR A P56  

4. Ateo_________     PASAR A P56__ 

9. No contesta            PASAR A P56_ 

3. Non-believer_____ GO TO Q56 _ 

4. Atheist_________  GO TO Q56 _  

9. N.A._________      GO TO Q56 _ 

Interviewer 
Instruction 

A TODAS LAS PERSONAS 
ENTREVISTADAS 
 

TO ALL RESPONDENTS 
 
(See other instructions/filters in 
Codes/Categories section) 
 

Note Two questions intervene in the construction of ES_RELIG: questions 55 and 55a 
Filter Variable(s) and Conditions: 
No filter para Q55  
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  ES_RELIG 

P. 55a ¿Cuál?  Q. 55a  Which one? 

-Religión_____________________  Religion____________________ 

-Doctrina (si es protestante) Doctrine (if protestant)  

9. No contesta  9. N.A. 

A LOS CREYENTES DE OTRA RELIGIÓN 
(CÓDIGO 2 EN P55) 
 
SI CONTESTA  “PROTESTANTE”, PREGUNTAR 
LA DOCTRINA O RAMA  

ONLY TO THOSE WHO BELIEVE 
IN OTHER RELIGIONS (CODE 2 IN 
Q55)  
IF THE ANSWER IS 
“PROTESTANT”, ASK FOR 
DOCTRINE  OR  BRANCH 

 
 

Question 55a   is    an    open   
question  to respondents who answer 
“they believe in other religion” (not 
Catholics). 
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Filter Variable(s) and Conditions: 
If question 55= 1,3,4,9    SKIP QUESTION 55a 
 
Filter Variable(s) and Conditions: 
If question 55A01 = 1 (Protestant)     ASK 55A02 (protestant doctrine) 
 
 
Construction/Recoding: (Q55 and 55a) 

Country Variable Codes/Construction Rules  ES_RELIG 

If question 55 =3 or 4  000 No religion 
Else question 55 = 1  100 Roman Catholic 
Else question 55= 2 and question 55A01 = 1 200 Protestant 
Else question 55=2 and question 55A02 = 2 210 Anglican 
Else question 55 = 2 and question 55A02 = 3 220 Baptist 
Else question 55 =2 and question 55A02 = 5 250 Lutheran 
Else question 55 = 2 and question 55A02 = 4 260 Methodist 
Else question 55 = 2 and question 55A02 = 1 290 Evangelist 
Else question 55 = 2 and question 55A01 = 2 282 Jehova Witnesses 
Else question 55 = 2 and question 55A01 = 6 390 Orthodox 
Else question 55 = 2 and question 55A01 = 3 400 Other Christian 
Else question 55 = 2 and question 55A01 = 4 600 Islam 
Else question 55=9 or/and question 55A01=5 700 Buddhist 
Else question 55=9 or/and question 55A01=8 960 Other religions 
 990 NAP, other countries 
Not used  997 Refused 
Else question 55=9 or question 55a= 9 999 No answer 
 
Optional: Recoding Syntax 
COMPUTE ES_RELIG=999. 
IF (P55=3 OR P55=4) ES_RELIG=0. 
IF (P55=1) ES_RELIG=100. 
IF (P55=2 AND P55A01=1) ES_RELIG=200. 
IF (P55=2 AND P55A01=1 AND P55A02=1) ES_RELIG=290. 
IF (P55=2 AND P55A01=1 AND P55A02=2) ES_RELIG=210. 
IF (P55=2 AND P55A01=1 AND P55A02=3) ES_RELIG=220. 
IF (P55=2 AND P55A01=1 AND P55A02=4) ES_RELIG=260. 
IF (P55=2 AND P55A01=1 AND P55A02=5) ES_RELIG=250. 
IF (P55=2 AND P55A01=2) ES_RELIG=282. 
IF (P55=2 AND P55A01=3) ES_RELIG=400. 
IF (P55=2 AND P55A01=4) ES_RELIG=600. 
IF (P55=2 AND P55A01=5) ES_RELIG=700. 
IF (P55=2 AND P55A01=6) ES_RELIG=390. 
IF (P55=2 AND P55A01=8) ES_RELIG=960. 
 
 
  

ISS
P 2

01
2 S

pa
in



  35 

Documentation for ISSP background variables, ISSP 2011, ISSP 2012 © GESIS 35 

RELIGGRP- Groups of religious affiliations 

 National Language English Translation 

Question no. 
and text 

SAME TWO QUESTIONS : 55 and 
55a 

 

Codes/ 
Categories 

SAME CATEGORIES AS IN Q55 and 
55a 

 

  
  

Interviewer 
Instruction 

SAME INTERVIEWER 
INTSRUCTIONS 

 

Note Two questions intervene in the construction of RELIGGRP: questions 55 and 55a 
 
Filter Variable(s) and Conditions: 
Same filters as in Q55 and 55a 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  RELIGGRP 

If question 55 =3 or 4 0.No religion 
Else question 55 = 1 1. Catholic 
Else question 55= 2 and question 55A01 = 1 2. Protestant 
Else question 55 = 2 and question 55A01 = 6 3. Orthodox  
Else question 55 = 2 and question 55A01 = 2 or 3 4. Other Christian 
---------------------- 5. Jewish 
Else question 55= 2 and question 55A01 = 4 6. Islamic 
Else question 55= 2 and question 55A01 = 5 7. Buddhist  
Else question 55= 2 and question 55A01 = 8 8. Hindu 
---------------------- 9. Other Asian religions 
Else question 55= 2 and question 55A01 = 8 10. Other religions 
(Not used) 97. Refused 
(Not used) 98. Information insufficient 
Else question 55=9 
Else question 55a = 9 

99. No answer 

 

Optional: Recoding Syntax 
COMPUTE RELIGGRP=999. 
IF (P55=3 OR P55=4) RELIGGRP=0. 
IF (P55=1) RELIGGRP=1. 
IF (P55=2 AND P55A01=1) RELIGGRP=2. 
IF (P55=2 AND P55A01=2) RELIGGRP=4. 
IF (P55=2 AND P55A01=3) RELIGGRP=4. 
IF (P55=2 AND P55A01=4) RELIGGRP=6. 
IF (P55=2 AND P55A01=5) RELIGGRP=7. 
IF (P55=2 AND P55A01=6) RELIGGRP=3. 
IF (P55=2 AND P55A01=8) RELIGGRP=10. 
RECODE RELIGGRP (999=99). 
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ATTEND – Attendance of religious services 

 National Language English Translation 

Question no. 
and text 

P.56 ¿Con qué frecuencia asiste Ud. A 
misa u otros oficios religiosos sin contar 
las ocasiones relacionadas con 
ceremonias de tipo social, por ejemplo: 
bodas, comuniones o funerales?  

Q. 56. How often do you go to mass or 
other religious services, excluding the 
occasions related to social ceremonies, 
such as weddings, first communions or , 
funerals?     

Codes/ 
Categories 

1. Varias veces a la semana 1. Several times a week 

2. Una vez a la semana 2. Once a week 

3. Entre dos y tres veces al mes_______ 

4. Una vez al mes, más o menos______ 

5. Varias veces al año______________ 

6. Una vez al año__________________ 

7. Menos frecuentemente____________ 

8. Nunca_________________________ 

9. No contesta____________________  

3. Two or three times a month________ 

4. Once a month, more o less_________ 

5. Several times a year_____________ 

6. Once a year____________________ 

7. Less frequently_________________ 

8. Never_________________________ 

9. No answer_____________________ 

Interviewer 
Instruction 

A TODAS LAS PERSONAS 
ENTREVISTADAS 

ASK EVERYBODY 

 
Filter Variable(s) and Conditions: 
No filter 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  ATTEND 

If question 56 = 1 1. Several times a week or more often 
Else question 56 =2 2. Once a week  
Else question 56 =3 3. 2 or 3 times a month 
Else question 56 = 4 4. Once a month 
Else question 56 = 5 5. Several times a year 
Else question 56 = 6 6. Once a year 
Else question 56 = 7 7. Less frequently than once a year 
Else question 56 = 8 8. Never 
Not used 97. Refused 
Not used 98. Don’t know 
El question 56 = 9 99. No answer 
 

Optional: Recoding Syntax 
COMPUTE ATTEND=P56. 
RECODE ATTEND (9=99). 
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TOPBOT - Top-Bottom self-placement 

 National Language English Translation 

Question no. 
and text 

P.57 En nuestra sociedad, hay grupos 
que tienden a ocupar una posición alta o 
muy alta, mientras que otros ocupan 
posiciones medias o bajas. En una 
escala donde el 1 representa la posición  
más baja y el 10 la más alta, ¿en qué 
punto de la escala se situaría Ud.? 

Q. 57 In our society, there are groups 
that tend to occupy  a high or very high 
position, while others occupy middle or 
low positions. In a scale where number  
1 represents the lowest position and 10 
the highest, where would you place 
yourself?    

Codes/ 
Categories 

                       Escala 01-10      NS    NC 

Punto de la escala     _____      98     99 

 

                       Scale 01-10      NS    NC 

Point of the scale    _____      98     99 

 

ENTREVISTADOR: MOSTRAR 
TARJETA O 

INTERVIEWER: DISPLAY CARD O 

  
Note • For the first time, the Spanish questionnaire does not use the term 

“social class”, but “position”, as it demands ISSP in TOPBOT 

 
Filter Variable(s) and Conditions: 
No filter 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  TOPBOT 

If question 57 = 01 1. Lowest, Bottom 
Else if question 57 = 02 2. 
Else if question 57 = 03 3. 
Else if question 57 = 04 4. 
Else if question 57 = 05 5. 
Else if question 57 = 06 6. 
Else if question 57 = 07 7. 
Else if question 57 = 08 8. 
Else is question 57 = 09 9. 
Else if question 57 = 10 10. Highest, Top 
Else if question 57 = 98 98. Don’t know 
Else if question 57 = 99 99. No answer 
 

Optional: Recoding Syntax 
COMPUTE TOPBOT=P57. 
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VOTE_LE - Did respondent vote in last general election? 

 National Language English Translation 
Question no. 
and text 

P.62 ¿Me podría decir si en las 
elecciones generales del 20 de 
noviembre usted….?         

Q.62  Could you tell me whether  in the 
past General elections of  November the 
20th  you….? 

Codes/ 
Categories 

1. Fue a votar y votó           1.   Went to vote and did vote   

2. No tenía edad para votar 2.  Didn’t vote because you were too        
young to vote 

3. Fue a votar pero no pudo hacerlo 

________________________________ 

4. No fue a votar porque no pudo 
________________________________  

5. Prefirió no votar________________ 

6. No tiene la nacionalidad española 

8. No recuerda____________________ 

9. NC___________________________ 

 

3. Went to vote but you couldn’t do  
it____________________________ 

4. Did not go because you couldn’t go  
_____________________________ 

5.  Preferred not to vote_________ 

6.  Lacks Spanish nationality 

8.  Don’t remember___________ 

9. NA__________________________ 

 

Interviewer 
Instruction 

Code “1”          PASAR A P62a 

MOSTRAR TARJETA RECUERDO 
DE VOTO 

Code “1”     GO TO Q62a 

SHOW CARD VOTE RECALL 

Note Code “2” in question 62 does not include those unable to vote  due to lack of 
nationality. BUT code “0” in Construction/Recoding of VOTE_LE does 
include both ineligibilities: lack of age and lack of Spanish nationality 
question 62) 

 

Filter Variable(s) and Conditions: 
No filter 

 

Construction/Recoding: 

Country Variable Codes/Construction Rules  VOTE_LE 
If question 62= 2 or 6 0. Not eligible to vote at last election 
Else question 62= 1 1. Yes 
Else question 62 = 3 or  4  or 5  2. No 
(Not used) 7. Refused 
Else question 62= 8 or 9 9. No answer 

 

Optional: Recoding Syntax 
COMPUTE VOTE_LE=P62. 
RECODE VOTE_LE (2,6=0) (1=1) (3,4,5=2) (8,9=9). 

 

ISS
P 2

01
2 S

pa
in



  39 

Documentation for ISSP background variables, ISSP 2011, ISSP 2012 © GESIS 39 

ES_PRTY - Country specific party voted for in last general election 

 National Language English Translation 

Question no. 
and text 

P62a ¿Y podría decirme a qué partido o 
coalición votó? 

Q62a And could you tell me to which 
party or coalition did you vote? 

Codes/ 
Categories 

01. PP (Partido Popular). 01. PP Popular Party 
02. PSOE (Partido Socialista Obrero     
Español).  

02. PSOE Spanish Socialist Workers 
Party   

03. IU (ICV en Cataluña) (Izquierda 
Unida). (Iniciativa per Catalunia. Els 
verts). Coalición 

03. IU (ICV en Cataluña) United Left: 
(a coalition of the Spanish Communist 
Party and other left-groups). ICV 
(Initiative per Catalonia-Greens:  
Catalonian version of IU) 

 04. UPyD (Unión, Progreso y 
Democracia) 

04. UPyD (Union, Progress and 
Democracy) 

 05. CiU (Convergencia i Unio) 05. CiU (Convergence and Union)  
 06. Amaiur (Coalición Nacionalista de 

izquierda formada por tres partidos: 
Eusko Alkartasuna, Alternatiba y Aralar 
para las elecciones nacionales de 2011) 

06. Amaiur (A nationalist leftist 
Basque coalition consisting of three 
parties: Eusko Alkartasuna, Alternatiba 
y Aralar, created for the National 
Elections of 2011) 

 07. PNV (Partido Nacionalista Vasco)  
 

07. PNV (Basque Nationalist Party) 

 08. ERC (Ezquerra Republicana de 
Cataluña). 

08. ERC (Republican Catalonian Left). 

 09. BNG (Bloque Nacionalista Galego) 09. BNG (Nationalist Galician Bloque) 
 10. CC (Coalición Canaria) 10. CC (Canary Islands Coalition) 
 11. Compromis –Equo  (Coalición de 

Compromis (una coalición de  partidos 
valencianistas de izquierda) y Equo 
(partido ecologista valenciano). Creada 
para las elecciones nacionales de 2011.  

11. Compromis-Equo (a regionalist-
Valencian leftist-green Coalition), 
created in 2011 National Elections. 

 12. FAC (Foro Asturias de 
ciudadadnos) partido conservador  
regionalista asturiano  

12. FAC (a conservative regionalist 
Asturian Party) 

 13. Geroa Bai (Sí a un futuro en 
Euskera: Coalicion Navarra del PNV, 
Atarrabia Taldea y la asociación 
Zabaltzen, creada en 2011. Sustituye a 
Nafarroa Bai 

13 Geroa Bai (Yes to a future in 
Euskera (Basque language). A 
Navarran Nationalist coalition of: PNV, 
Atarrabia Taldea and Zabaltzen 
Association, created in 2011. It 
substitutes Nafarroa Bai 

 14. Otros partidos 14. Other parties 
 15. En blanco 15. Blank vote 
 77. Voto nulo 77. Invalid vote 
 98. No recuerda  98. Does not remember 
 99. NC 99. NA 
Interviewer 
Instruction 

RESPUESTA ESPONTÁNEA SPONTANEOUS RESPONSE 

Note  
 

ISS
P 2

01
2 S

pa
in



  40 

Documentation for ISSP background variables, ISSP 2011, ISSP 2012 © GESIS 40 

 
Filter Variable(s) and Conditions: 
If question 62= 2 – 9, SKIP question 62a 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  ES_PRTY 

If question 62 = 1 and question 62a=01 1. PP 

If question 62 =1 and question 62a = 02 2. PSOE 
... ... 
If question 62 = 1 and question 62a =15   (Blank vote) 15. Blank vote 
If question 62 = 1 and question 62a = 77 96. Invalid ballot 
(Not used) 97. Refused 
If question 62 = 1 and question 62a =9 99. No answer 
 0. NAP (0, 2, 7 in VOTE_LE) 
 ------- 
 

Optional: Recoding Syntax 
COMPUTE ES_PRTY=P62A. 
IF (VOTE_LE=0 OR VOTE_LE=2) ES_PRTY=0. 
IF (VOTE_LE=9) ES_PRTY=99. 
RECODE ES_PRTY (77=96) (98=99). 
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PARTY_LR - Party voted for in last general election: left-right scale 

 National Language English Translation 

Question no. 
and text 

Constructed based on  ES_PARTY   

Codes/ 
Categories 

  
  
  

Interviewer 
Instructions 

Data to construct PARTY_LR come from CIS Study 2799 (2009) and 2829 
(2010), as well as from the 2006 Chapel Hill Expert Survey. See Liesbet Hooghe, 
Ryan Bakker, Anna Brigevich, Catherine de Vries, Erica Edwards, Gary Marks, 
Jan Rovny, Marco Steenbergen, Milada Vachudova (2010), "Reliability and 
Validity of Measuring Party Positions: The Chapel Hill Expert Surveys of 2002 
and 2006," European Journal of Political Research,42 (4): 684-703. 
 
Parties with codes 5 to 13 are regionalist/nationalist parties and, thus, their main 
axis of identification/electoral competition is not the left-right one, but centre-
periphery. 
 

 

Filter Variable(s) and Conditions: 
No filter 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  PARTY_LR 

If question 62a= 03, 06, 08, 09, 11 1 (far left) 
If question 62a= 02, 13 2 (left-centre left) 
If question 62a= 04, 05, 07, 10 3 (centre/liberal) 
If question 62a= 01, 12 4 (right-conservative) 
If question 62a = 14  6. (other) 
If question 62 = 1 and question 62a = 77 96. Invalid ballot 
(Not used) 97. Refused 

If question 62 = 1 and question 62a = 15 98. Insufficient information to code into 
scheme 

If question 62a = 99 99. No answer 
 0. NAP (0, 2, 7 in VOTE_LE) 
 
Optional: Recoding Syntax 
COMPUTE PARTY_LR=ES_PRTY. 
RECODE PARTY_LR (3,6,8,9,11=1) (2,13=2) (4,5,7,10=3) (1,12=4) (14=6) (15=98) (96=96) 
(99=99). 
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ES_ETHN – Country-specific: COUNTRY OF ORIGIN   

 National Language English Translation 

Question no. 
and text 

P67 ¿En qué país ha nacido usted? Q67 In which country were you born? 

Codes/ 
Categories 

001. En España 001. In Spain 
En otro país, ¿cual?________________ 
 

In another country, which one?_______ 
 

999. NC 999. NA 
Note OPEN QUESTION for those who were not born in Spain. 

The Spanish questionnaire includes questions on COUNTRY OF BIRTH  (Q67), 
NATIONALITY (Q68), YEAR OF ARRIVAL TO SPAIN, when Spain is not 
the country of birth (Q67a), and two questions about the QUALITY OF 
SPANISH SPOKEN by respondent: one answered by the respondent (67b) and 
the other by the interviewer (67c) 
Recode question 67 from three to two digits 

 
Filter Variable(s) and Conditions: 
No filter 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules ES_ETHN 
If question 67 = 01______________________________ 
Else question 67 = 103_ 
(SEE Recoding syntax) 
......... 

 01”España” 
 02”Bélgica” 
 03”Bulgaria” 
 04”Dinamarca” 
 05”Francia” 
 06”Italia” 
 07”Países Bajos” 
 08”Portugal” 
 09”Reino Unido” 
 10”Alemania” 
 11”Rumanía” 
 12”Suiza” 
 13”Ucrania” 
 14”Moldavia” 
 15”Rusia” 
 21”Argelia” 
 22”Guinea” 
 23”Guinea Bissau” 
 24”Guinea Ecuatorial” 
 25”Mali” 
 26”Marruecos” 
 27”Nigeria” 
 28”Senegal” 
 31”Canadá” 
 32”Estados Unidos de América” 
 41”Cuba” 
 42”Haití” 
 43”Honduras” 
 44”Nicaragua” 
 45”República Dominicana” 
 46”Argentina” 
 47”Bolivia” 
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Country Variable Codes/Construction Rules ES_ETHN 
 48”Brasil” 
 49”Colombia” 
 50”Chile” 
 51”Ecuador” 
 52”Paraguay” 
 53”Perú” 
 54”Uruguay” 
 55”Venezuela” 
 61”Bangladesh” 
 62”Filipinas” 
 63”India” 
 64”Pakistán” 
 65”Uzbekistán” 
 70”China” 
 81”Palestina” 
 97 “Refused” 
 99 “No answer” 
… 

Not used 97. Refused 
If question 67 = 99 99. No answer 
................... 0 "NAP, other countries" 
 
Optional: Recoding Syntax 
COMPUTE ES_ETHN=P67. 
RECODE ES_ETHN (1=1) (103=2) (104=3) (107=4) (108=1) (110=5) (115=6) (121=7) (123=8) 
(125=9) (126=10) (128=11) (132=12) (135=13) (137=14) (154=15) 
   (203=21) (218=22) (219=23) (220=24) (227=25) (228=26) (234=27) (239=28) 
   (301=31) (302=32) (315=41) (320=42) (321=43) (323=44) (326=45) (340=46) (341=47) (342=48) 
(343=49) (344=50) (345=51) (347=52) (348=53) (350=54) (351=55) 
   (404=61) (407=70) (409=62) (410=63) (426=64) (447=65) (449=81) (999=99). 
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HOMPOP - How many persons in household 
 National Language English Translation 

Question no. 
and text 

P36 ¿Cuántas personas viven en su 
hogar, incluido Ud. y el servicio 
doméstico, si duerme en casa? 

Q36 How many people do live in your 
household, including yourself, and any 
servants you may have, if they sleep at 
home? 

Codes/ 
Categories 

Nº de personas____________________   Nº of people_____________________ 

99. No contesta 99. No answer 

  

Interviewer 
Instruction 

ENTREVISTADOR: Si la persona  
entrevistado/a vive solo/a PASAR A 
P39 

INTERVIEWER: If respondent lives 
alone,  GO TO Q39 

Note OPEN QUESTION.  

 
Filter Variable(s) and Conditions: 
No filter 
 

Country Variable Codes/Construction Rules  HOMPOP 

----------------- 00. Not a private household  
[ ] 

[ ] 

if question 36 =01 

[ ] 

[ ] 
 
01. One person (only respondent) 

... … 

else if question 36=99 99. No answer 

 

Optional: Recoding Syntax 
COMPUTE HOMPOP=P36. 
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HHCHILDR - How many children in household 

 National Language English Translation 

Question no. 
and text 

P37 ¿Podría decirme, empezando por la 
persona de más edad: el sexo, la edad y 
qué relación de parentesco tiene Ud. 
con cada una de esas personas?  

Q37 Could you tell me: the sex, age and 
kinship relation that you have with each 
of those people, beginning by the eldest 
person?    

Codes/ 
Categories 

1. Es mi cónyuge/pareja  1. He/she is my spouse/partner 

2. Es mi padre/madre  2. He/she is my father/mother 

3. Es mi hijo/hija 

4. Es mi hermano/a 

5. Otra relación de parentesco (cuñados, 
sobrinos, nietos) 

6. Sin relación de parentesco, incluido 
servicio doméstico_________________ 

99. No contesta 

3. He/she is my son/daughter 

4. He/she is my brother/sister 

5. Other kinship relation (in-laws, 
nephews/nieces, grandchildren etc.) 

6. No kinship relation, domestic service 
included_________________________ 

99. N.A. 

Interviewer 
Instruction 

MOSTRAR TARJETA 
PARENTESCO.  

EN ESTA PREGUNTA NO TIENEN 
QUE IR LOS DATOS DEL 
ENTREVISTADO 

DISPLAY KINSHIP CARD.  

 

THIS QUESTION DOES NOT 
INCLUDE RESPONDENT’S DATA  

Note  
 
Filter Variable(s) and Conditions: 
If question 36=1      SKIP question 37 
 
Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in 
[square brackets] with real numbers.) 

Country Variable Codes/Construction Rules  HHCHILDR 

(SEE Recoding syntax) 00. No children 
 01. One child 
 … 
 96. NAP (Code 0 in HOMPOP) 
 99. No answer 
 ISS
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Optional: Recoding Syntax 
COMPUTE ED01=EDAD01. 
COMPUTE ED02=EDAD02. 
COMPUTE ED03=EDAD03. 
COMPUTE ED04=EDAD04. 
COMPUTE ED05=EDAD05. 
COMPUTE ED06=EDAD06. 
COMPUTE ED07=EDAD07. 
COMPUTE ED08=EDAD08. 
COMPUTE ED09=EDAD09. 
COMPUTE ED10=EDAD10. 
RECODE ED01 ED02 ED03 ED04 ED05 ED06 ED07 ED08 ED09 ED10 (0 THRU 5=1) 
               (6 THRU 17=2) (18 THRU 98=3) (99=99). 
COUNT HHCHILDR=ED01 ED02 ED03 ED04 ED05 ED06 ED07 ED08 ED09 ED10 (2). 
IF (P36=99) HHCHILDR=99. 
IF (ED01=99 AND ED02=99 AND ED03=99 AND ED04=99 AND ED05=99 AND ED06=99 AND 
ED07=99 AND ED08=99 AND ED09=99 AND ED10=99) HHCHILDR=99. 

 
HHTODD - How many toddlers in household 

 National Language English Translation 

Question no. 
and text 

P37 ¿Podría decirme, empezando por la 
persona de más edad: el sexo, la edad y 
qué relación de parentesco tiene Ud. 
con cada una de esas personas?  

Q37 Could you tell me: the sex, age and 
kinship relation that you have with each 
of those people, beginning by the eldest 
person?    

Codes/ 
Categories 

1. Es mi cónyuge/pareja  1. He/she is my spouse/partner 

2. Es mi padre/madre  2. He/she is my father/mother 

3. Es mi hijo/hija 

4. Es mi hermano/a 

5. Otra relación de parentesco (cuñados, 
sobrinos, nietos) 

6. Sin relación de parentesco, incluido 
servicio doméstico_________________ 

99. No contesta 

3. He/she is my son/daughter 

4. He/she is my brother/sister 

5. Other kinship relation (in-laws, 
nephews/nieces, grandchildren etc.) 

6. No kinship relation, domestic service 
included_________________________ 

99. N.A. 

Interviewer 
Instruction 

MOSTRAR TARJETA 
PARENTESCO.  

EN ESTA PREGUNTA NO TIENEN 
QUE IR LOS DATOS DEL 
ENTREVISTADO 

DISPLAY KINSHIP CARD.  

 

THIS QUESTION DOES NOT 
INCLUDE RESPONDENT’S DATA  

Note  
 
Filter Variable(s) and Conditions: 
If question 36=1      SKIP question 37 
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Construction/Recoding: (list lowest, highest, and ‘missing’ codes only, replace terms in 
[square brackets] with real numbers.) 

Country Variable Codes/Construction Rules  HHTODD 

(SEE Recoding syntax) 00. No toddlers 
 01. One toddler 
 … 
 96. NAP (Code 0 in HOMPOP) 
 99: No answer 
 

Optional: Recoding Syntax 
COMPUTE ED01=EDAD01. 
COMPUTE ED02=EDAD02. 
COMPUTE ED03=EDAD03. 
COMPUTE ED04=EDAD04. 
COMPUTE ED05=EDAD05. 
COMPUTE ED06=EDAD06. 
COMPUTE ED07=EDAD07. 
COMPUTE ED08=EDAD08. 
COMPUTE ED09=EDAD09. 
COMPUTE ED10=EDAD10. 
RECODE ED01 ED02 ED03 ED04 ED05 ED06 ED07 ED08 ED09 ED10 (0 THRU 5=1) 
               (6 THRU 17=2) (18 THRU 98=3) (99=99). 
COUNT HHTODD=ED01 ED02 ED03 ED04 ED05 ED06 ED07 ED08 ED09 ED10 (1). 
IF (P36=99) HHTODD=99. 
IF (ED01=99 AND ED02=99 AND ED03=99 AND ED04=99 AND ED05=99 AND ED06=99 AND 
ED07=99 AND ED08=99 AND ED09=99 AND ED10=99) HHTODD=99. 
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ES_RINC – Country-specific: personal income 

 National Language English Translation 

Question no. 
and text 

P64 ¿Y en qué tramo de esa misma* 
escala están comprendidos sus ingresos 
personales, después de las deducciones 
de impuestos, es decir, sus ingresos 
netos? 

Q64 And in which interval of that same  
scale is included your individual, 
personal income, after tax deductions, 
that is, your net income? 

Codes/ 
Categories 

01 Menos o igual a  300 Euros 01    300 Euros or less 

02 De 301 a 600 Euros  02   From 301 to 600 Euros 

03  De 601 a 900 Euros 

04  De 901 a 1.200 Euros 

05  De 1.201 a 1.800 Euros 

06  De 1.801 a 2.400 Euros 

07  De 2.401 a 3.000 Euros 

08  De 3.001 a 4.500 Euros 

09  De 4.501 a 6.000 Euros 

10  Mas de  6.000 Euros   

97. No tiene ingresos 

03   From 601 to 900 Euros  

04   From 901 to 1,200 Euros 

05   From 1,201 to 1,800 Euros 

06  From  1,801 to 2,400 Euros 

07  From 2,401 a 3,000 Euros 

08  From 3,001 to 4,500 Euros 

09  From 4,501 to 6,000 Euros 

10  More than 6,000 Euros 

97 Does not have any income 

 99  No contesta 99  No answer 

Interviewer 
Instruction 

(MOSTRAR TARJETA INGRESOS. 
Si el entrevistado contesta en pesetas, 
pasar la cantidad a euros) 

(DISPLAY INCOME CARD. If 
respondent answers in “pesetas” 
transform the amount into Euros)   

Note *Misma (= same) means the same scale as that used for household income in 
question 63 (placed before personal income in Spanish questionnaire) 
SPANISH DATA INCLUDES MONTHLY INDIVIDUAL INCOME AFTER 
TAXATION (NET INCOME) 
In order to meet ISSP requirements, the categories displayed in each of the 
intervals of this scale are presented as one single point: the arithmetic mean,  
except for category 10: More than 6,000.00.    
Currency: EUROS  
In order to meet ISSP requirements, the categories displayed in each of the 
intervals of this scale are presented as one single point: the arithmetic mean,  
except for category 10: More than 6,000.00.    

 
Filter Variable(s) and Conditions: 
No filter 
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Construction/Recoding: (If the income information is collected by asking for income 
classes or brackets, please code class midpoints in local currency and report classes offered 
to respondents. If asking for individual amounts, list lowest, highest, and ‘missing’ codes 
only) 

Country Variable Codes/Construction Rules ES_RINC 

else if question 64 =97 0.      No own income 

If question 64= 01 250.   250.00 Euros 

else if question 64 = 02 450.   450.00 Euros 

else if question 64 = 03 750.   750.00  Euros 

else if question 64 = 04 1050. 1,050.00  Euros 

else if question 64 = 05 1500. 1,500.00  Euros 

else if question 64 = 06 

else if question 64 = 07 

else if question 64 = 08 

else if question 64 = 09 

else if question 64 = 10 

 

2100. 2,100.00  Euros 

2700. 2,700.00 Euros 

3750. 3,750.00 Euros 

5250. 5,250.00 Euros 

7000.  > 6,000.00 Euros 

 

else if question 64 = 99 999999. No answer 

 

Optional: Recoding Syntax 
COMPUTE ES_RINC=P64. 
RECODE ES_RINC (1=250) (2=450) (3=750) (4=1050) (5=1500) (6=2100) (7=2700) (8=3750) 
    (9=5250) (10=7000) (97=0) (98=999998) (99=999999). 
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ES_INC – Country-specific: household income 

 National Language English Translation 

Question no. 
and text 

P63 Actualmente, entre todos los 
miembros del hogar (incluida la persona 
entrevistada), y por todos los conceptos, 
¿de cuántos ingresos disponen por 
término medio en su hogar al mes, 
después de la deducción de impuestos 
(o sea, ingresos netos)? No le pido que 
me indique la cantidad exacta, sino que 
me señale en esta tarjeta en qué tramo 
de la escala están comprendidos los 
ingresos de su hogar.   

Q63 At the present time, what is the  
monthly income, as an average, adding 
together the incomes of every 
household member, and considering all 
possible revenues of each of them, after 
tax deduction (that is, net income)? I 
am not asking you the exact amount, 
but to look at this card and point to me  
the interval in the scale where your 
home income is included.    

Codes/ 
Categories 

01 Menos o igual a  300 Euros 01    300 Euros or less 

02 De 301 a 600 Euros  02   From 301 to 600 Euros 

03  De 601 a 900 Euros 

04  De 901 a 1.200 Euros 

05  De 1.201 a 1.800 Euros 

06  De 1.801 a 2.400 Euros 

07  De 2.401 a 3.000 Euros 

08  De 3.001 a 4.500 Euros 

09  De 4.501 a 6.000 Euros 

10  Mas de  6.000 Euros   

98  No sabe 

99  No contesta 

03   From 601 to 900 Euros  

04   From 901 to 1,200 Euros 

05   From 1,201 to 1,800 Euros 

06  From  1,801 to 2,400 Euros 

07  From 2,401 a 3,000 Euros 

08  From 3,001 to 4,500 Euros 

09  From 4,501 to 6,000 Euros 

10  More than 6,000 Euros 

98  DK 

99  No answer 

Interviewer 
Instruction 

(MOSTRAR TARJETA INGRESOS. 
Si el entrevistado contesta en pesetas, 
pasar la cantidad a euros) 

(DISPLAY INCOME CARD. If 
respondent answers in “pesetas” 
transform the amount into Euros)   

Note Currency: EUROS  
 
SPANISH DATA INCLUDES MONTHLY HOUSEHOLD INCOME from all        
sources AFTER TAXATION (NET INCOME) 
 
-In order to meet ISSP requirements, the categories displayed in each of the 
intervals of this scale are presented as one single point: the arithmetic mean,  
except for category 10: More than 6,000.00.  
  
Household income is located before personal income in Spanish questionnaire 
When respondent lives alone in household, (1 in question 36), he/she is imputed 
personal income (E_RINC) instead of household income (E_INC) 
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Filter Variable(s) and Conditions: 
If question 36  < 2 SKIP question 63 
 
Construction/Recoding: (If the income information is collected by asking for income 
classes or brackets, please code class midpoints in local currency and report classes offered 
to respondents. If asking for individual amounts, list lowest, highest, and ‘missing’ codes 
only) 

Country Variable Codes/Construction Rules ES_INC 

If question 36=1 and question 64= 01 
Else question 36 >1 and question 63=01 

250.   250.00 Euros 

If question 36=1 and question 64= 02 
Else question 36 >1 and question 63=02 

450.   450.00 Euros 

If question 36=1 and question 64= 03 
Else question 36 >1 and question 63=03 

750.   750.00  Euros 

If question 36=1 and question 64= 04 
Else question 36 >1 and question 63=04 

1050. 1,050.00  Euros 

If question 36=1 and question 64= 05 
Else question 36 >1 and question 63=05 

1500. 1,500.00  Euros 

If question 36=1 and question 64= 06 
Else question 36 >1 and question 63=06 

2100. 2,100.00  Euros 

If question 36=1 and question 64= 07 
Else question 36 >1 and question 63=07 

2700. 2,700.00 Euros 

If question 36=1 and question 64= 08 
Else question 36 >1 and question 63=08 

3750. 3,750.00 Euros 

If question 36=1 and question 64= 09 
Else question 36 >1 and question 63=09 

5250. 5,250 Euros 

If question 36=1 and question 64= 10 
Else question 36 >1 and question 63= 10 

7000. > 6,000.00Euros 

If question 36=1 and question 64= 97 00000 No income  

If question 36 >1 and question 63=98 999998. DK 

If question 36=1 and question 64= 99 
Else question 36 >1 and question 63=99 

999999. NA 

 

Optional: Recoding Syntax 
COMPUTE ES_INC=P63. 
IF (HOMPOP=1) ES_INC=ES_RINC. 
RECODE ES_INC (1=250) (2=450) (3=750) (4=1050) (5=1500) (6=2100) (7=2700) (8=3750) 
    (9=5250) (10=7000) (98=999998) (99=999999). 
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MARITAL – Legal partnership status 

 National Language English Translation 

Question no. 
and text 

P65 ¿Cuál es su estado civil? Q65 Wich is your marital status? 

Codes/ 
Categories 

1. Casado/a 1. Married 

2. Pareja de hecho 2. Civil partnership 

3.  Viudo/a 3. Widowed 

Interviewer 
Instruction 

4. Divorciado/a 

5. Separado/a 

6. Soltero/a 

9. N.C. 

4. Divorced 

5. Separated 

6. Single, never married 

9. N.A. 

Note  
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  Marital 

If question 65=1 1. Married 
Else if question 65 = 2 2. Civil partnership 
Else if question 65= 5 3. Separated from spouse/civil partner 

(still legally married/still legally in a 
civil partnership) 

Else if question 65 = 4 4. Divorced from spouse/legally 
separated from civil partner 

Else if question 65 = 3 5. Widowed/civil partner died 
Else if question 65 = 6 6. Never married/never in a civil 

partnership 
------------------------------------- 7. Refused 
Else if question 65 = 9 9. No answer 
 

Optional: Recoding Syntax 
COMPUTE MARITAL=P65. 
RECODE MARITAL (1=1) (2=2) (5=3) (4=4) (3=5) (6=6) (9=9). 
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 URBRURAL – Place of living: urban - rural 

 National Language English Translation 

Question no. 
and text 

Q. 58  Describiría Ud. el lugar donde 
vive como........  

Q. 58  Would you describe the place 
where you live as...  

Codes/ 
Categories 

1. Una gran ciudad 1. A big city 

2. La periferia de una gran ciudad 2. The suburbs (outskirts) of a big city 

3. Una ciudad pequeña______________ 

4. Un pueblo______________________ 

5. Una casa aislada en el campo 
(caserío, granja, etc)________________ 

9. No contesta 

3. A town or small city_____________ 

4. A country village________________ 

5. An isolated farm or house in the 
country__________________________ 

9. No answer 

Note  
 
Filter Variable(s) and Conditions: 
No filter 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  URBRURAL 

If question 58=1 1. A big city 

else if question 58 =2 2. The suburbs or outskirts of a big city 

else if question 58=3 3. A town or a small city 

else if question 58 =4 4. A country village 

else if question 58 =5 5. A farm or home in the country 

else if question 58 =9 9. No answer 

 

Optional: Recoding Syntax 
COMPUTE URBRURAL=P58. 
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ES_REG – Country specific: region  
 National Language English Translation 

Question 
no. and 
text 

Comunidad Autónoma (C.A.) Autonomous Community. (NUTII) 

Codes/ 
Categori
es 

Nombre)____________ 

Código ______   (01-17) 

Name ___________ 

Code)________ (01-17) 

  

   

Intervie
wer 
Instructi
on 

 Interviewers are instructed to write down 
the name and corresponding code  of the 
region where the interview takes place, 
before starting the interview. This is 
written down in the front page of the 
questionnaire, where it says “Comunidad 
Autónoma”. 

Note This  is not formulated as a question. First thing written down by interviewer in front page of 
questionnaire There are 17 Administrative regions (Autonomous Communities) in Spain   

 
Filter Variable(s) and Conditions: 
No filter 
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Construction/Recoding: 

Country Variable Codes/Construction Rules  ES_REG 

If  Comunidad Autónoma = 01 Andalucía   01. Andalusia 

else if Comunidad Autónoma = 02 Aragón 02. Aragon 

else if Comunidad Autónoma = 03 Asturias 03. Asturias 

else if Comunidad Autónoma = 04 Baleares_ 

else if Comunidad Autónoma = 05 Canarias_________ 

 else if Comunidad Autónoma = 06 Cantabria________ 

 else if Comunidad Autónmoma = 07 Castilla-laMancha 

 else if Comunidad Autónoma = 08 Castilla y León____ 

else if  Comunidad Autónoma = 09 Cataluña_________ 

else Comunidad Autónoma=10 Comunidad Valenciana         

else if Comunidad Autónoma  = 11 Extremadura______ 

else if Comunidad Autónoma  = 12 Galicia__________ 

else if Comunidad Autónoma = 13 Madrid___________ 

else if Comunidad Autónoma =14 Murcia___________ 

else if Comunidad Autónoma = 15 Navarra__________ 

else if Comunidad Autónoma = 16 País vasco________ 

else if Comunidad Autónoma = 17 La Rioja 

04. Balearic Islands________________ 

05. Canary Islands_________________ 

06.Cantabria______________________ 

07. Castille- La Mancha_____________ 

08. Castille and León_______________ 

09. Catalonia_____________________ 

10.Valencian Community___________ 

11. Extremadura___________________ 

12. Galicia_______________________ 

13. Madrid_______________________ 

14. Murcia_______________________ 

15. Navarra_______________________ 

16. Basque Country________________ 

17. La Rioja______________________ 

 

Optional: Recoding Syntax 
COMPUTE ES_REG=CCAA. 
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SUBSCASE – Case substitution flag  
 National Language English Translation 

Question no. 
and text 

NO SUBSTITUTION IN THIS 
SURVEY 

 

Codes/ 
Categories 

  
  
  

Interviewer 
Instruction 

  

Translation 
Note 

 

Note  
 
Filter Variable(s) and Conditions: 
 
 
Construction/Recoding: 

Country Variable Codes/Construction Rules  SUBSCASE 

NO SUBSTITUTION IN THIS SURVEY 0. NAP, no substitution in this survey 
 1. Case from original sample 
 2. Case substituted 
 

Optional: Recoding Syntax 
COMPUTE SUBSCASE=0. 
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 WEIGHT – Weighting factor 

Please report on whether you calculate any weighting variables. If you adjust for non-
response bias, please enter the variable(s) on which the sample’s distribution(s) is (are) 
adjusted to the population distribution(s). Please, also report if you apply any kind of 
rescaling. 

 

Design weight to 
adjust for unequal 
selection probabilities 

No  [  ] 

Yes [ X ]  DESWEIGHT 

Weight to adjust for 
non-response bias 

No  [   ] 

Yes [ X ] → please specify variables used 
for calculation of weight 

 

ES_REG  

ES_SIZE (SIZE OF HABITAT) 

 

Are the final weights 
rescaled to net sample 
size (thus weighted 
sample 
size=unweighted 
sample size)? 

No  [  ] → please specify target population 
represented by sum of all case weights 
 

 

Yes  [X ] WEIGHT 

Note  
 
 

 

Construction/Recoding: 
Country Variable Codes/Construction Rules  WEIGHT 

 1. No weighting 
 

DESWEIGHT – Design weighting factor 
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MODE – Administrative mode of data-collection 

Note  
FACE 2 FACE/PAPI, visuals 
 
 
 

 
Construction/Recoding: 

Country Variable Codes/Construction Rules  Mode 

 10. F2f/PAPI, no visuals 
FACE 2 FACE/PAPI, visuals 
 

11. F2f/PAPI, visuals 

 12. F2f/PAPI, respondent reading 
questionnaire 

 13. F2f/PAPI, interpreter or translator 
– no visuals 

 14. F2f/PAPI, interpreter or translator 
– visuals 

 20. CAPI, no visuals 
 21. CAPI, visuals 
 22. CAPI, respondent reading 

questionnaire (paper or on monitor) 
 23. CAPI, interpreter or translator – no 

visuals 
 24. CAPI, interpreter or translator – 

visuals 
 30. SC, arrives with interviewer, 

interviewer attending 
 31. SC, arrives with interviewer, 

drops-off, picks up later 
 32. SC, arrives with interviewer, drops 

off, mailed back by R 
 33. SC, mailed to, completed by R and 

hold for pick up 
 34. SC, mailed to, mailed back by R 
 40. CASI, self-completion, computer-

assisted 
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ANEX  
 

Note on Specifications and Recoding of Some Differences 
Between the Spanish Questionnaire and ISSP Instructions in 

Some Opinion Variables in the Data File 
 

 

1) The Spanish questionnaire does not include the middle 
category  (Neither agree nor disagree) in the following 
variables:  
 

V5; V6; V7; V8; V9; V10; V11; V14; V15; V16; V17; V18; V19; 
V20;  V22; V23; V24; V25; V26; V27 

 
Spain specific codes (Q1; Q2; Q4; Q5; Q7): 

1'Muy de acuerdo'    (Strongly agree) 

2'De acuerdo'  (Agree) 

3'En desacuerdo' (Disagree)  

4'Muy en desacuerdo' (Strongly disagree) 

8'N.S.'    (DK) 

9'N.C.'   (NA) 

 

ISSP defined codes: 

1 "Strongly agree" 

2 "Agree" 

3 "Neither agree nor disagree" 

4 "Disagree" 

5 "Strongly disagree" 

8 "Can't choose" 

9 "No answer" 

 

The values of the original Spanish variables have been recoded: 

 

RECODE Vxx (3=4) (4=5). 
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Recorded variable in dataset: 

1' Strongly agree ' 

2' Agree ' 

4' Disagree ' 

5' Strongly disagree ' 

8' Can't choose ' 

9' No answer ' 

 

 

2) V28 "Q8 Paid leave: Yes, how long - no". 

 

 In the Spanish questionnaire, the above question consists 
 of two variables: 
 

Spain specific codes: 

P8       Q8 

 1'Sí' (Pasar a P8a)                  (Yes (GO to Q8a)) 

 2'No, no debería existir una baja remunerada' (No, there shouldn´t be paid 
leave) 

 8'N.S.'       (DK) 

 9'N.C.'        (NA) 

P8A        Q8A 

  Nº de meses      (N. of months) 

  98'N.S.'      (DK) 

  99'N.C.'      (NA) 

 

ISSP defined codes: 

01 "Yes, 1 month" 

02 "Yes, 2 months" 

03 "Yes, 3 months" 

60 "Yes, 60 months"  

96 "No, there should be no paid leave" 

98 "Don't know" 

99 "No answer" 

 

In order no to loose the cases (quite a lot) who answer “Yes” in Q8, 
but who do not specify how long the period should be, the variable 
is recoded with an added category. Besides, the highest values are 
recoded in order not to interfere with value 96 that has its own 
category: 
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IF (P8=1) V28=P8A. 

IF (P8=8) V28=98. 

IF (P8=9) V28=99. 

IF (P8=1 AND (P8A=95 OR P8A=96) V28=94. 

IF (P8=1 AND (P8A=98 OR P8A=99)) V28=95. 

IF (P8=2) V28=96. 

 

Recorded variable in dataset: 

01 "Yes, 1 month" 

02 "Yes, 2 months" 

03 "Yes, 3 months" 

60 "Yes, 60 months"  

94 “Yes, 94 and more monthts’ 

95 “Yes, don’t give specific paid leave ” 

96 "No, there should be no paid leave" 

98 "Don't know" 

99 "No answer" 

 

 

3) The following variables in the Spanish questionnaire 
 don’t include category 6 (Father at home, mother full-time): 

  V31 "Q11a Child under school age: Best parental childcare 
 option". 

 V32 "Q11b Child under school age: Least desirable parental 
 childcare". 

 

Spain specific codes (P9 y P10): 

 

1'Que la madre se quede en casa y el padre trabaje' 

2'La madre, a tiempo parcial y el padre, a jornada completa' 

3'Que ambos, la madre y le padre, trabajen la jornada completa' 

4'Que ambos, la madre y el padre, trabaje a tiempo parcial' 

5'El padre, a tiempo parcial, y la madre a jornada completa' 

8'N.S.' 

9'N.C.' 
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ISSP defined codes: 

 

 1 "Mother at home, father full-time" 

 2 "Mother part-time, father full-time" 

 3 "Mother and father full-time" 

 4 "Mother and father part-time" 

 5 "Father part-time, mother full-time" 

 6 "Father at home, mother full-time" 

 8 "Can't choose" 

 9 "No answer" 

. 

Recorded variable in dataset: 

 

 1 "Mother at home, father full-time" 

 2 "Mother part-time, father full-time" 

 3 "Mother and father full-time" 

 4 "Mother and father part-time" 

 5 "Father part-time, mother full-time" 

 8 "Can't choose" 

 9 "No answer" 

 

4) V39; V40; V41; V42; V43; V44; V45; V46; V47; V48; V49; 
 V50 

 

The above variables correspond to questions 19 – 25 in 
the Spanish questionnaire. There is an important 
difference here between the filter applied in the Spanish 
questionnaire and that of ISSP, and it is impossible to 
adapt it to ISSP instructions: 
 

In the Spanish case, the people who answer those questions 
are only those who “have a partner and live with him/her” 
(code “1” in Q17 =PARTLIV).  While the ISSP instructions say 
that all respondents who have a partner should answer, 
regardless of whether they live together or not (codes 1 and 2 
in PARTLIV). 
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Spain specific codes (Q19 - Q25): 

 

0'No applicable: No partner, or, if he/she has a partner, they do not live 
together” 

 

ISSP defined codes: 

 

0 "Not applicable, no partner (Code 3 in PARTLIV)" 

. 

Recorded variable in dataset: 

 

0'Not applicable: No partner or, if he/she has a partner, they do not 
live together” (Code 2 or 3 in PARTLIV)". 

 

5) V51; V52; V53; V54 
 

There is a difference between the Spanish questionnaire 
and the English questionnaire in the criteria for “Non 
applicable” in the above variables:   
 

Spain specific codes (P26): 

 

1'Varias veces a la semana'  (Several times a week) 

2'Varias veces al mes'  (Several times a month) 

3'Una o dos veces'   (Once or twice)   

4'Nunca'    (Never) 

7'No procede (no trabaja/no tiene responsabilidades familiares)'* 

9'N.C.' 

 

*Translation: (Not applicable: doesn’t work/doesn’t have family responsibilities)  

 

ISSP defined codes: 

 

0 "Doesn't apply, no job" 

1 "Several times a week" 

2 "Several times a month" 

3 "Once or twice" 

4 "Never" 

8 "Don't know" 
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9 "No answer" 

. 

RECODE V51 TO V54 (7=0). 

 

Recorded variable in dataset: 

 

0' Not applicable: (doesn’t work/doesn’t have family responsibilities)' 

1 ‘Several times a week’ 

2 ‘Several times a month’ 

3 ‘Once or twice’ 

4 ‘Never’ 

9 ’No answer’ 

 

6) V57 "Q26 How satisfied with family life". 

 
In the Spanish questionnaire the above variable includes a category that is 
lacking in ISSP: (code 97 in Q29: Non applicable (doesn’t have a family). 

 
Spain specific codes (P29): 

 
  1 'Completamente satisfecho' 

  2 'Muy satisfecho/a' 

  3 'Bastante satisfecho/a' 

  4 'Ni satisfecho/a ni insatisfecho/a' 

  5 'Bastante insatisfecho/a' 

  6 'Muy insatisfecho/a' 

  7 'Completamente insatisfecho/a' 

  97 'No procede (no tiene familia)' 

  98 'N.S.' 

  99 'N.C.' 

 

ISSP defined codes: 

 

 1 "Completely satisfied" 

 2 "Very satisfied" 

 3 "Fairly satisfied" 

 4 "Neither satisfied nor dissatisfied" 

 5 "Fairly dissatisfied" 
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 6 "Very dissatisfied" 

 7 "Completely dissatisfied" 

 8 "Can't choose" 

 9 "No answer" 

 

RECODE V57 (97=0) (98=8) (99=9).  

 

Recorded variable in dataset: 

 
  0 'Not applicable (no family)' 

  1 "Completely satisfied" 

  2 "Very satisfied" 

  3 "Fairly satisfied" 

  4 "Neither satisfied nor dissatisfied" 

  5 "Fairly dissatisfied" 

  6 "Very dissatisfied" 

  7 "Completely dissatisfied" 

  8 "Can't choose" 

  9 "No answer" 

 

7) V59 "Q28 Mother ever worked for pay before R 14". 
 

In the Spanish questionnaire the above variable doesn’t include category 6 
in ISSP defined codes (Non applicable, Mother non present). 

 

Spain specific codes (Q31): 

 1'Sí' 

 2'No' 

 8'N.C.' 

 9'N.S.' 

 

ISSP defined codes: 

 1 "Yes, she worked for pay" 

 2 "No" 

 6 "Mother not present" 

 8 "Don't know" 

 9 "No answer" 
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Recorded variable in dataset: 

 1'Yes' 

 2'No' 

 8'D.K.' 

 9'N.A.' 

 

8) V67 "Q34 Duration of relationship". 

 
The Spanish question and the filter applied is different from ISSP 
requirements: the Spanish question refers only to the years that the 
respondent and his/her partner are living together (code 1 in Q17 
=PARTLIV). ISSP instructions, on the contrary, indicate that the question 
should be answered by all those who have a partner, regardless of whether 
they live together or not (1 or 2 in PARTLIV).  
 

Spain specific codes (P18): 

 1 "Un año" 

 2 "Dos años" 

 3 "..." 

 90'Menos de un año' 

 99'N.C.' 

 

ISSP defined codes: 

 0 "Less than one year" 

 1 "One year" 

 2 "Two years" 

 3 "..." 

 97 "No answer, refused" 

 98 "Don't know" 

 99 "Not applicable, no partner (code 3 in PARTLIV)" 

 

IF (P17=1) V67=P18. 

IF (P17=2 OR P17=3) V67=0. 

IF (P17=9) V67=97. 

RECODE V67 (99=97) (0=99) (90=0). 

 

Recorded variable in dataset: 

 0 "Less than one year" 

 1 "One year" 

 2 "Two years" 
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 3 "..." 

 97 "No answer, refused" 

 98 "Don't know" 

 99 "Not applicable, no partner or they don’t live together (2 or 3 in    
PARTLIV)" 
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